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SECTION #1

Question # 02

Attempt any Six Parts

L

VL

VIL

VIIL

S da el ey w58
If 4/5 of the students in a school have been away for a holyday. How many in every hundred has
been on holyday?

S gl S e S o il
WS pslaa Ciad S X (el S 20:5::8:x

Clear the Concept the word ratio.

Find the value of x in Proportion 20:50::8:x

?d EUEPRN.S — eadd
What is meant by percentage?
eSS
What do you mean by zakat?
S S pslea €5 ol S 5004000

Calculation zakat of Amounting on Rs. 500,000?
S S puialy 33 1S Jlals ) adi
What is difference between Profit & Loss?
6/ Sisen 230 T28 Cafondig 0 aSun Sa pglee ik g i o
Find SP when MP = Rs 728 discount =6%
S oyl S il
Define Inheritance?

Question # 03

Attempt any six Parts

I:
II.

11
IV.

VI
VIL

VIIL
IX. .

@S Ua el i) e u S

Define Credit Card?
?al Al e lS — Alay
What is meant by Premium?
f o Sl ad (S g 8l i dead 16 Ut O = 290 349800 Coad S i anaS S
A Computer Price is Rs 34,800 inclusive of 16 % sales Tax what is the original Price of the
Computer?
£ 8 i yxi S GKS Sou

Define Sales Tax? _

S iyl S A

Define Excise Duty Sz ~
Prove that 3log2 + log5 = log 40 —U‘_}l L.‘Lﬂ C é(}:&d’b
Solve log(x +3)=2 AT, (j"‘
1 1 =1 i % -~
Simplify (a+ b3)7 = (a3 b3)~3 - U /:P?
Written a Scientific Notation
§ g8 (e i 5 paaiils 5S 504004000

ERTY Question # 04



Attempt any six parts
=S paigl ey w S8

a0yl € iy i S Ll S ol

. Define Sequence and give Example?

f i e ) af iy g3 S Su
Il.  Define Set & give Example?

S gl (S5 e i IS
Ill.  Define Cartesian Plane?
€ S iy e S o) £ s
IV.  Define Histograms?
=S aslaeagi o o

V. Find first two term of = = (=1")n?
oS a sl Caal SO 535 04 ey aan S16 sl R

VL. If AM between ‘a” and 16 is 24. Then Find the value of ‘a
f S s slsAXB 55 5B={a,b} LyA={2,34} B

VIL.  1fA={2,3,4} and B= {a.b} find AxB
S S pabna oy 2 188 )5l 402

VIIL.  Find geometric mean of 4, 2 and 8?

S gl s S 05

IX.  Find the Range of the data? 6, 8, 13, 11, 18, 27, 23

Section # 02

Question # 05
Attempt any Three Long Question

Tow a2 9 A £ S S 3e 35,4050 5 =230 6750 el (S yfsa 15 S 58 K
a. The Price of 15 Suits in Rs. 6750 how many much suits can be Purchased by an amount of Rs.
40507
~{ Sila g dser U Ul ) S O e S e i 04 65 sen daiila LS culle =23 484004000 5 8
a f S asha e S ioa SOl g
‘ b. Akram left a property of worth Rs. 48,00,000 he left behind a Widow, 3 Sons and 4 Sisters,
Calculate the Shares of each?

Question # 06

- 5 3:2:5 Cusd e ggems SO B1 i€ i S _ail 55200000 Ge gl 08

4 Yo D

7 [‘ ~ 4. Distribute Rs. 200000 as a Profit in business regarding Thr}e Persons if their Shares are in the

[N ratio 3:2:5? /

| ¢ € i pplea @dlia B3 o 2 VLT 6 S Jued 25,5600
b. Find Compound on Rs. 600 For 4 Years at 6% per amount?
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Question # 07

S 0olle 30 st B e Ld U8 Sz 58 (ST 16 Ly S 81 1) 4000 i S Sl S

a.

Fc)“‘:‘s P}l"“ «)“s&ﬁ
The Price of a Cycle is Rs. 4000 if 16 % Sales Tax is charged then calculate the amount of sales
tax on 30 such cycle?

f oS da uaae (S o 8]
2.38x3.901

Solve with the help of logarithm table —

Question # 08

If the A.Ms Between “a” and “b” are 5, 9 and 13 find a & b?
b sla slel g0 R
TS 2 US Cud Sb yla g by gaas O sl 59 G S

If A={7,10,13,14} ,U=(7,8,9,10,11,12,13,14} or B={7.8,11,12} find then
Verify that (A N B) = A° U BS

wSali 8 g A= {7,10,13,14}, U= {7,8,9,10,11,12,13,14}, B= {78.11,12y &
Verify that (A n B)¢ = A° U B¢

Question # 09

oy RS w230 (S 0l oyl g€ IS5 ol £
Draw figure with help of following points on graph paper?
A(0, -5), B(3,-2), C(3, 0), D(6, 7)
02 S pslaa oy 5l a4l 1S 01 5
3,5,6.8,8,9,10
For the data find mean & Median?

0



Model Paper Mathematics (Sci) IX

15 ASE e
Q no:1 Tick the Correct Answer !
Sr | Question I A l B ol D
Which one is Scalar Matrix 2 3] ; [0 Vz] | {\3 G} 2 m
1 e AEL oS [1 ol |lyz olilo val| lo o
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2 | x2= 0 E 122 X2 2
|
3 |Log103= I ' 0 3 0
TG ve o) I
Find m so that x*+4x+m is a complete square !
5 12 o5 § ? -8 4 16
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laj= sa<o®| * | &= | o
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MODEL PAPER MATHEMATICS SCIENCE IX (Subjective Paper)

60 AF 285y
Q no: 2 Answer briefly any Six Parts from the followings. J_/Q_/“_u,gvgﬁ{,,:z;{c_éfgu:‘j:;@” 1
Define Identity Matrix and give example Lede sy S S s,
17 720 , 1 7 i -
iI. li‘f\:[ 54 éz] Find |A|= Is a Matrix non- ?:‘__,)G/;I:ﬁ”/\b_)li'yfq/r)”[ éﬂr éz]:AlAI;‘
singular? i g
III.  Simplity o g
o 29 p2r st l g
(\'-“*'1)‘(\'4*'")'(\‘"“’) | E
rl\’. Simplify /243x5y10215 P ; .'
V.  Find the value of log,” 2 ‘|
= logs“ o/ 'W =i J ‘
Vi [fz=2+i Find (i) Z (ii) z+Z
[ (1) Z (i) z+2 WD)z 2y /rz =2+ |
VII.  Define logaritl {1 07 =
garithm of real number. u_‘/-aif/’df’/?:'f)i&-" |
|
- o . 1 1
VIIL  If x=2-V3 , Find the value ofx-; u_rfr}”_-_fJx%?x:.?—\@/‘f !t
IX. F ize 1-x2-y242 .
i actorize 1-x°-y*+2 xy S | |
/ Q no: 3 Answer briefly any Six Parts from the followings. q//,f;,glz/i"iflmng:_(jf;ufgbbu 7 i
[ Flnd H.F.C b) factorization :
j XH5X46 | x2-4x-2 SRS i e l
X H5X+6 , x2-4x-2
T What is the difference between E ]
| L quation and 5 . i
| inequalities by giving example. ¢/_;u,/g,Jv+d/gu:u|,uim_,uw \\
Lm. Solve |2x + 5|=11 J_;‘,,qu?\
Iv.  In the given lines identify which line is LSBT Loy $it5 Lof xe A F 1T 6

parallel to x-axis and which is parallel to y-
axis.

D 2y+4=3 (ii) 2x+1=0

a. (i) 2y+4=3 (ii) 2x+1=0
v. Find Fhe value of m _and.c of the given e u(.:ulm,w.LL/ﬁWgﬂy:mwc/_—.l,L/éxd: \I
equation by expressing in the form of Ax-2y+8=0 ]
=IMX+C y |
a. 4x-2y+8=0
VI.  Define Scalene Triangle S Pt ey
VIL.  End Points of diameter of circle are A(4 , 6) VESTIL B Lai1A (4,600 BQ 204 p fodls
and B(2 , 2) Find center of circle. -./
s
VIIL.  What is meant by A.S.A =A.S.A e A N AT
IX.  Find the unknownsx® , y¥°, m°and n°in the qfr:“’u:’-;«fn"ulm"ry"‘x"ude'u’:a.v

given figure. N

85 XLy

Q n0: 4 Answer briefly any Six Parts from the followings.

: t,[f{_fou:’ﬁ"ﬁp']lgcf{jfé—ufcj.)bﬂ

I

Define Bisector of a line segment

(‘ i S L s 53
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3em, 6¢m and 9em are not are not lengths of

%
|

l.

-

Triangle why"?
What is the difference between Raito and

“ .
SRR )
“U LSS U ]

!

J

proportion /

V. By Geometrical figures define similar I s e e b |
triangles. _ |
RISy RO - B |

Define convers of phthagoras

Verify that a® + b%, a® — b%and 2ab are the
sides of Right Angle Triangle

L £ s 19175 fi2abaia? — b2a? + 2SS G
.

‘Wi.

If the base of Triangle is 14cm and altitude is
12cm Find the area of Triangle.

_u_’,fp’-”,}/b/éylf-;nIZCmCLéLJul I4chHJml§'£.&¢fﬁ /

Construct a Triangle ABC in which
mAB = 4cm mzA=60° mBC =4.2cm

VIIL.

P s baBC /

Define Circum center of a Triangle

JIw PSS e ekl J

IX.

Note: Attempt any Three Questions. Q no.9 is Compulsory -«,‘—(ff'”?-jdffklflf"w'é"u”‘j‘é’f:‘:"’JJ
Qno:s @) if =[S 7| Find A™and Prove that RN e ~J4
AA7=]

b) Simplify z
(®) Simplil o LI

(243)"/3(32) /s
J(196)1
q/.:r.&'-

Q no: 6(a) Prove that
log, m"=nlog, m

log, m"=nlog, m

(b) If
2x — 3y = 10 and xy = 2 Find the viaue of 8x°- |

27y3

St 22 §8x3-27y30xy = 242x — 3y = 10./1

Q no: 7(a) If (x+2) is a Factor of 3x%-4kx -4k? ,
then find the values of K. 4

et SR Il Aea3xt-dkx -4k2 S F (x+2) /i

(b) Find Square root by division Method

NI Y DALY P

4x® 8x 12y  9y?
—+—+16+—+ =5
y y X x
Q no: 8 (a)Solve equation for value of x I3—5x 1_:z b
,3—5x 1_2 |3 = g eed
4 1373

(b) Construct the Triangle ABC and draw the
perpendicular Bisectors of the of the

Zf/ St Lyt Line b ABCE L
mBC = 4.8cm mCA = 3.6c mAB = 4cm

sides of the Triangle
Q no: 9 (a) Prove that the right bisectors of the sides

-wi_ﬁhﬁ(f.ift‘gj)f &Cuh_f_g,ﬁ-.j’

of a Triangle are concurrent

OR

(b) Show that a median of a triangle divides it into

-c‘_b/ﬂ-juﬂu?ﬁudiu_!-..u_lx.c.l:;w’:...l:l/:b’é,-@fq/:f_t‘

two triangles of equal area.

W

(- ¢ s Coviin & . |
fux ’_,:!u’.'fg‘_éug,‘:,ui';’_&b@mnw6cmc3um !

e il e T
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. o
15= —= 3 Fr COMPUTER SCIENCE J— - fve
10 :/_."jj ¢ —t?

e S Ui s L~y QKQI:? uZ &—sDsIABC =2 J/L’/ L~y g Yy
-y JL//;/;KL‘L//,J/U)/’DMQL._—g_&)ﬂadfr L S o1 B> AL R s

Ky Wes iz 0sd e S
1ot Jir
-------- is a graphical representation of an Algorithm. Py Gerd K(E J [— -1
Solution J~"(D)  Flowchart >+ (C) Graph — 1./ (B) Matrix —— =0 (A)
An algorithm produces a defined set of - b/ (i~ — o (- S (El A 22
Symbols —=— b (D) Rule ¢/#L=4(C) Steps J="1.~" (B) Solution J= (A)
Expression (A+B) . (A+C) is equal to —eOnas L (A+B).(A+C) 2 —F1 | 23
A+@B+C) (D) A.(B.C) (O A.B+A.C (B) A+(B.0) A
Number “ 17 ” is equal to ————-———- in binary system. - ¢— {5 1z L —————————- " 17"~ o~ (b"'/ S~ | -4
10100 (D) 10001 (C) 10110 (B) 10000 (A)
The IPV6 address is made up of ————-—-- binary bits. -¢—r e uJ I ﬂuf‘ I IPV6 | -5
256 (D) 128 (C) 64 (B) 32 (A)

..g_b'LgL./‘.f{/,: ————— ._JQJ/LT(_/—/»/LLMJC_LT_,QWUJQ-_JJL/J 21| -6

Routing is process of taking data form one device and sending it to another device in different ——====-----

Area L4 (D) Path # | (C) Network —""s —2 (B) Channel J~<¥ (A)
Making illegal copies of software is called————-——-——_¢_ £> LA U Qs = § =i | 7

== Copy gé( (D) Crime r‘ 1./ () Hacking ¢ (B) Piracy ufi.fg A
TR TS V] S P Ry Uy g (U RPN o o PUN . Ju [ um— -8

-------- is a cyber attack to make machine or network unavailable for a user.

KOs (D) DOS (C) cos (B) POS (A)
Web page can be created and modified by using————-- - ¢— Cﬁu e tnd S e g @’ —_ | =9

Photo editor ~~<4! /9 (D) ~Power point —17 s (C)  Excel J-/":l (B) Notepad Az ——7 (A)
-----—-tag is used to display data in tabular form. -¢—txr J&—1_ L LSS J-’-; Sty G —-|-10

th (D) tr (C) table (B) td (A)

MODEL PAPER CLASS 9" 2024
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45 s = =5 — &% o  COMPUTER SCIENCEU— —tys
40 = /-,//‘f Part-1 J}l,._z‘?

Q. No.2 Write Short answers to any four of the following -é/“/—j_"_apﬁﬁﬁ Lol = AP e J:'/L g~ J;;' L 2 .J-.’jdlr’

4x2=8
How would you solve a problem ? ¢ o s J= .4 S — 'T’T @
How would you understand a problem ? St &= A~ 4 Py _?_«7 (i)
Why we use boundary test data ? cur &S Ui ol s 2 G A Gid)
Differentiate between verification and validation. - é /,,/-—; = Y2 L v Ll nl S s g | (iv)
Write the name of important sections of web page. - ’_’é ct Zur® (7 1L 3‘ —_|
How would you create a new paragraph in HTML ? \p u.f, - .4 _31)7,;«.:. - —{i U~ HTML ‘T’T (vi)

Q. No.3 Write Short answers to any four of -é/,,fj _;glﬁr—‘? L1~ AP e éfL S Sies 3 ..J-."‘(dlr‘

‘Write the characteristics of Binary number system. -i /,,/-j .;aL,Jr" d/ rLJ»‘ o’ ‘j AN

Convert (69610),, to Hexadecimal. _ZE fas U e ) B £ (69610), | Gi)
Differentiate between primary and secondary memory. &k /,,/-; Om? Y ss L $us2 $ade= sl .~ g | Gid
Construct truth table for AND operator. L J"j 7 “L Z /-5’-1/,:7 AND (iv)
Define soft lifting. -2{2 __d;,/-’." d/ N S )|
What is patent and why we need to register it ? e Ux.( Sy d/ S e - u.f‘z - L.“/(.;ér. Gvi)

the following  4x2=8
Q. No.4 Write Short answers to any four of ..Efi/“/-j _~¢§!£/-"? L~ /L..:/L éfL o J.‘.;' Cr 4 -/—-erlr‘

the following 4 x2=8

Describe communication channel. - i (O[S =i f =% duSiigaas| (9)
How client and server communicate with each other ? surl_J, _.ijl/“i“/—/ 39l 9= 13| 2 S Gii)
Differentiate between static and dynamic IP. ..Efi /“/-j J/-/’ g0 P A3 _,@? Gii)
‘Write the working of Router. - é 7~ — & J #4 Gv)
Write the purpose of front tag. - 2’2 /.,/-} " K_f =~
Find the output of following code. - 2’2 rru" — 5T $3 S saer | (i)
<HTML >
< Body >
<P> How <BR> ARE <BR > You </P>
</ Body >
</HTML >

Part =1l fo—=
Note: Attempt any two questions from thispart 8 x2=16 -i /_,/-; SV Y S ey JJ/L S e S iy
How do you determine requirements for a flowchart?- 29 — 3~ P Wy e = =2 s~ Uir
> ) - -
Explain components of communication system. - é/,,-j =1 ( (S gas 6’ Jiv

Explain substitution cipher methods with examples. - i —a by I d/ uﬁ’;./-) LJ;L.} Z S /’I — 7- /-‘// Jl v

MODEL PAPER CLASS 9" 2024
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/ MODEL PAPER FOR THE YEAR 2024 AND ONWARD

Ly Class 9th,

ENGLISH (Compulsory) (Objective Part)

Time: 20 Minutes

M

arks: 19

You have four choices for each objective type question as A, B, C and D. ‘The choice which you think iy
correct, fill that civele in front of that question number. Use marker or pen o fill the civeles, Culling or

objective type question paper and leave others blank.

g two or more circles will vesult in zero marks in that question. A(tempt ng many questions as given in

‘hoose the correct form of verb from the columns A, B, C and D and fill up the bubbles:
1 |

S.# | Questions A 5 | ¢ | b
1 |1t in witer. raining " rains | wererain | rain
: Mjgi— | havenot
2 | She him back. do not send | will not sent | has not sent
sent
She her home task when the guests ) .
3 L was doing | were doing | has doing | have going
arrived.
St s . have been was were had been
4 | She Europe since childhood. L o
visiting visiting visiting visiting
7 ; shall have shall has . did have
5 |1 writing this novel by June next year. was finish .
finish finish finished
Choose the word with correct spellings from the columns A, B, C and D and fill up the bubbles:
S.# A B C D |
6 Transformation Trensformation Trosformation Trunceformation
7 Incetantly Instantly Instontly Instuntly
8 Flamboyant Flambuyant Flambiyant Flamboyont J
9 Rehublitation Rehabalitation Rehabilitation Rehobilitation |

Choose the correct option from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
10 | The word unparalleled means: unmatched cheep ugly unwanted
11 | The word entertain means: give amuse conquer benefit
12 | The word devotion means: fame work loyalty focus
13 | The word perilous means: deceased jumbled cowardice | dangerous
14 | The word jocund means: ha lorious olite lane
Jocund | PPy g p P
Choose the correct option according to grammar from the columns A, B, C and D and fill up the bubbles:
S.# Questions A B C D
15 | “Could” is a model verb to indicate: possibility | certainty | obligation habit
16 | The word “cotrective” is a/an adverb adjective verb pronoun
She faced every calamity of life with i b
. collecti materi abstract
17 | patience and valour. The underlined word is Y erigl o proper noun
noun noun noun
a/an
He began knocking the door
18 | . - on about at into
violently.
Some are born great. The underlined word is | possessive | indefinite | reflexive
19 i personal pronoun
a/an . pronoun pronoun | pronoun

e e Bord 10 92084
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MODEL PAPER FOR THE YEAR 2024 AND ONWARD

< ' Class 9th.
) ENGLISH (Compulsory) (Subjective Part)
y r Time: 02:10 Hours Marks: 56
A Write short answers to any FIVE of the following questions: 10

(i) What type of the land is Arabia?
(ii) What are the qualities of a patriot?
(iii) What are the two major means of communication? Give at least one example for each.
(iv) What was the Quaid’s concept of our nation?
(v)  Why do you think the madrassah and the hospice were part of the masjid?
(vi) What are the causes of drug addiction?
(vii) Describe some qualities of the personality of the nurse in story “All is not Lost”.
(viii) Who was Helen Keller?

3. Translate into Urdu. OR Rewrite in simple English any Two of the following paragraphs. 08

(@) In stories, the doomed hero is usually saved at the last minute by some stroke of fortune, but almost
always his sense of values is changed. He becomes more appreciative of the meaning of life and its prominent
spiritual values. It has often been noted that those who live, or have lived, in the shadow of the death bring a
mallow sweetness to everything they do.

(b) Patriotism gives people the strength and courage to safeguard the interest of the country and nation. For a
patriot the sovereignty, integrity and honour of the country are of supreme values on which no compromise can
be made. Patriots render sacrifice for the preservation and protection of these values.

() The entire journey of the great leader's struggle for a separate homeland for the Muslims of the

subcontinent was based on the pivot of the Muslim unity and the oneness as a nation. He talked about Pakistan

in such clear terms that even a common man could understand it.

4. Write the summary of the poem, “Daffodils” by William Words worth. 05
OR Paraphrase the following lines into simple English with reference to the context:
Continuous as the stars that shine
And twinkle of the milky way,
They stretched in never — ending line
Along the margin of the bay:
5. Use any five of the following words/phrases/idioms in your own sentences. 05
(i) Century (i) Sacrifice (iii) mad with anger (iv) Bits and pieces
(v) Impressive (vi) State (vii) since (viii) impending
6. Write a letter to your mother who is worried about your health. OR 08

Write a story with the moral, “It never pays to overreach yourself.”  OR

Write a dialogue between a teacher and a student, writing at least four sentences for each.
7. Read the following passage carefully and answer the questions given at the end of the paragraph. 10
~  One day a wolf felt hungry. He wandered here and there in search of food but could not find anything to eat. At
last, he saw a flock of sheep grazing in a pasture. He wanted to eat one but they were guarded by a hound. The
' 11 shepherd's son was also tending the flock vigilantly. The wolf found himself helpless. At last he hit upon a plan.

He hid himself in the skin of a sheep and safely went into the flock. The hound could not find out the wolf in
| disguise. He killed a sheep and ate it without being caught. In this way, he ate up many sheep and their number
}_\ began to fall every day. The shepherd was greatly worried but could not find out the thief.
, > QUESTIONS
i. Why did the wolf wander about?

| ii. Did he find anything to eat?
iii. Why was the wolf helpless?

.’T iv. How did he get into the flock?
; v. Why was the shepherd worried?
| 8. Translate any five of the following sentences into English. 05
| 14 cwlogdobod L) 3 o Monad 20 k) e st ]
w 1980 dafla U w6 Ssolmossila 5 1 s S 4
| Hos ol a8 8 ph dsaty .uch_.; ;
- 9. Change the voice of the following sentences. eI C‘“' =
15 (i) The driver opened the door of the car. 05
(i) The boy makes the picture. ‘ m
(iii) I was given five films by her.
(iv) She was teaching the students.

(v) The dog has not been beaten by her.
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Model paper (2024) Class: 9th subject: Pak Studies (New course) -
104 G Ldgreen AUy
Religion is not just a collection. in ok s (1
worship Keislr  (B) beliefs gl (A)
principles §udw (D) ideas f=tF (C)
There should be ho pressure on judges. _égmw’;g;b’fﬂuﬁ (2)
Social di-  (B) cultural 3¢ (A)
Political st (D) Economic §  (C)
In 1905 he was the Viceroy of indie , e K x 21905 .(3)
Lord Curzon i3 (B) Lord Wavell Jusa (A
Lord Minto #50 (D) Lord Wellesley dIa (C)
In 1962 constitution consisted of declare lions. ,ay’4u,,n;f@*’7(1962 (4)
Five 5 (B) Three 3 (A)
Nine 9 (D) Seven 7 (C)
The 1965 presidential election was held. -Z.ﬁﬁv':‘;«w‘"'la;lyu:1965 (3)
Uy FSES oK s (B) In January Séz (A)
In April Sy (D) In March LeA ()
South of river Kabul is spread from east to west. _4_1;411_;-:,’;}[?)&_,}?&;}(’;&» (6)
Koh-e-sufaid s (B) Koh-e-Suleman by (A)
Saitrange 4y {0} Koh-e-Hindukush Frnd  {(C)
Part of the Himalayas is located in Pakistan. -‘géu.»s’._imfu:ul:—ﬂ, (7)
Western > (B) Eastern 34 (A)
South . 5 g (D) North e (C)
The plain region has on average annual rainfall. -g‘_anjng,ulﬂru:)_"&lg (8)

15 to 20 inches él 20 <15 (B) 10 to 15 inches £115 10 (A)

15 to 25 inches & 2515 (D) 10 to 20 inches £120 =10 (C)
According to world Health organzation women are wamﬁB’:ﬁQIJL&L}‘-Jl.ﬁdWLJuI:IJE (9)
almost victims of domestic violence.

30% (B) 25% (A)
40% (D) 35% (C)
Lady Nusrat Haroon took full part . Mg AL she AGY (10)

e L7 (B)
G Feedd (D)

Khlafat movement

Round Table
conferences.

Non cooperation
movement

Gsrets  (A)
LFF (o)

Faraizi movement



RW

(5 pden)

12 :.ff.:.uzﬁ’? Z.c.mr(6)‘g;éf 24 Jlr"

Write the names of two Hindu movements that -ufgrt‘fuff'w»du'c’-ﬁg:;i”/u:dyu,»:'u
arose in subcontinent. = - [

(i)

Write the name of the second and fourth pillars of el ARG G (i)
Islam. _ i

Write the name of four Islamic values. : ;u:"”}réjnjuwug (iii)
Who framed the Indian council Act 1909 reforms. i e $1909 K1 S (iv)
Quaid-e-Azam deman to implement reforms in two _JJQVKL/A-;L._"JWJU:W,J”JLKHW )
provinces. o

Why did sir Syed Ahmad khan prevent Muslims SN VLV SIBL POT P BY Y (P vi)
from joining the Indian National congress? - e
Hyderabad Deccan is the joint capital by two Indian S B S UG Mo o Gt (vii)
states. ' T 33

Write the names of national languages of Pakistan _ﬂrl.éujtjd;brum&wﬁy’u1962 (vili)
as per the 1962 constitution. ' i )

In short analyze the 14 point of Quaid-e-Azam. :‘,g/ugdf_"Tﬁﬁ’mﬁ'w;zif""m (ix)
12 ‘ :Jaylﬁﬁyéomk(@agc.(jf 34l
Which hills are located south of koh-e-Suleman. 7 _wdi,ug;g,gu/ut,,;eéuw,f (i)
The Indus sager Doab region is between two rivers. _‘Lug-m:u;w“f kTS Lo (i)
Flood canals are mostly located in which distsicts of —BE S L e i Pl (iii)
Punjab. _, ) R o e

Wirite the names of weather of conditions. Al (iV)
Write the names of wild animals found in south Punjab. _uf’d rt.f.uu)lyfeLl;ngLguf__,g%,QR (v)
Write a hadith about the rights and duties of women. -u:"g P ) L 3@ Luif (Vi)
Write. common concepts about violence against AL Pk AL (P (i)
women. T ) :

Define violence according to the world health NIy NVt RV T " (vili)
organization. - ) }

Write two psychological effects of terrorism. _J:”G .—,I}IJLJ’»LJJ =2 (ix)
8 x2=16 (p222)

Write a detailed note on the elements of the |, ., .,.5. 0 Zuef_ ¥ 44 iy

Pakistan’s ideology of, equality and brotherhood , g <

justice and equity. N PR

Explain the importance of location of Pakistan. et S Lot 54

Indus River and its Eastern Tributaries. Lo g 2o 87 Lot G 64
I

Deforestation ¥l (i



20 = J) o T
A
6= J clags- 7” ¥/
b L Lo esa L p g0 B E e DA, C AR g LIy g ity 21
.‘nﬂ;Lll.:unfig:&u’gﬁ:f_géﬁl-fﬂu:;bmség Y L TA 1 58 3%

The sludy of Plants is called ? t b Ahung | 1
Physics 7 (D)  Chemistry £ (C)  Zoology §/us (8) Botany ¢} (W
The study of biclogy with the help of chemistry is called ? rq..w'.-lual;,.-_uﬂi 2
Geo Physics /3¢ (D) Geography 3./& (C)  Biochemistry § 24 ¢4 (B) Bio Physics /4 (A) |
The water content in milk is ¢ 0ris S Qplon 3
87%(@®) 8% (C) 68%(B) TBRW
Which gas is used to fill the electric bulb ? o t e WL L pI ML E L s0f | 4
Chiorine cL.#(D)  Neongh() (C)  Argon A (B)  Helium & (A) |
When was the term biotechnology introduced ? W/ o S Lenlgite, | s
‘ 1880 (D) 1980 (C)  1870(B) 1970 (A
' Co-enzymes are SELx)inf 6
Non glucose ;//k (D)  Non Protein cf 14 {C)  Non Fat wduk(B)  Non Lipid 4t (A)
What is Haemogiobin ? tevull| 7
Protein £ 14 (D)  Carbohydrate o fiN (C)  Fated (B)  Vitamin /'t (A)
| The amount of energy in rice in K.calories / 100g is. e dnt /P VasdSuic| 8
{ 384 (D) 284 (C) 348 (8) 248 (W
' Deficiency of which vitamin leads 1o a disease scurvy. f-;-Gnde;/c-qJJch S| e
Vitamin C '/ (D) Vitamin K ¢/t (C)  Vitamin A <1/ ks (B) Vitamin B Jo/'k (W |
T4 bp8'F104°F iz b pliias’s| W
- In which disease the temperature of the patient may rise up to 104 °F
Typhoid 4606 (D)  Malaria L& (C)  Cholera L/¥(B)  Tetanus /™ (A)
| t o bl S e ne Siscir 4o/ T ZSAILLBS | ¥
In sterilization the food items are heated for 1 - 2 seconds at 7

146.9 “‘C (D) u79°C (©) us9°c(B) “89°c W !

i temfedpobl 2 M.JZJP. n
! ' The percentage of world population that is deprived of pure drinking water is 5
70% (D) 80% (C) 5S0%(B) 60% W

The lemperature in mesosphere can be as low as r.;.o':/JZwM.cz.x T
- 100 *c (D) -1m0°c () -90°C(® -80°CW |
Main types of poliution are deJJJJ[ *

Five $4(0)  Four 4(C) Three £ (B) Two »(A)

_ tef ¢ 3/ i et | gad DK | 1
4 J | The percentage of population that depends on agricuture in Pakistan is

' Eighty J1(D)  Seventy > (CY  Fity UK (B) sw)t-w‘

~ SYED MUIMID HUSSAIN

Gowt. Migh 3¢ huua-hl
Sergodhe (0300-6245716)
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Q.2. Write short answers to any six of the followings. (6x2=12)

[ Write two uses of computer and internet. ?éj}}/l},,‘c%f'}'lm}{gf_ [
ii Al-Razi divided substances into how many classes? vgﬁ:};‘uﬁu{,/’g,ﬂ:w/é%ﬁde/m ii
i | Who translated the book Al-Chemia and when? ?&J/_.,C,Q_J’;f]gw?m/ i
iv. | When and where Pakistan conducted its nuclear tests? ?Z”LUWﬂJLV”JUA}:"éM”/@ iv

v | Define respiration and write its equation. _g}};;,pu’/um;gl%f&ﬁj@dj v

vi | Write names of two non-allotropic forms of carbon. & /}(w:'//u_f,/’,gluu,,z:djg Vi
vii | Give causes that why ice floats on water? = /}2)?LJ/”U},{//5/J&LJ/ vii

viii | Define nitrogen cycle. Z{__‘Z’{/J'Jf‘f,/% viii

ix | Write tow uses of Potassium carbonate. = /;;Uwy,,é&;;/g(fw iX

L F s B2 L Ginig e L3t Uy

Q.3. Write short answers to any six of the followings. (6x2=12)

i | Define catalyst. Z/%}J&JL;[ [
ii | Define Genetic engineering. _g/%fd/j/’-fguéf ii
i | Write any two uses of enzymes. _u:”’ﬂﬁ,uwg,,céfi./hj[ iii
iv | What is recycling? Give its two uses. ~M.J&UW'MZ:J'?+”M~€(:’V61 iv
v | What is difference between fats and oils. ?‘Ld)guf)’/TJ}]u:‘f v
vi | Write any four vitamins names which are soluble in -@}(VLYU’U%L@/LULIZJOJTQZ Vi
fats.
vii | Write main sources of vitamin A and vitamin D. ?ujci[iétg‘zédﬁmgld'h vii
viii | Define vitamins. Write name of two vitamins which are rL-Lyv,;;Ll;LnJ’uf&g/)'gbjg’/nyu, viii
soluble in water. _5/4;




ix | Define aging and write its two bad effects. jgf/;gij,,guﬂgdfd/ﬂ iX

G eun B2 L nge LG rA st Dy

Q.4. Write short answers to any six of the followings. (6x2=12)

[ Why we call dengue ‘Break Bone Fever ? gu;gu,fy,gu,x({”,@@;ﬂ [
i | What is sterilization? ?‘L&@%,’U Ve i
iii How germs spread by air? ?@%4@5"1&% iii
iv. | What are Koplik’s spot? 9@&@,9&[ iv
v Write the name of four layers of atmosphere. -52/’(“50’7/%5/3’*‘3’ v
vi | What is smog? ?‘L&fjf vi
vii | What are non-renewable natural resources? ‘-’9}'/152‘)/%3/)3/;4?@‘” vii
viii | What are wildlife reserves? ?‘LJI/“L,J/LJ',/{JJUW]} viii
ix | What you mean by Fisheries? 9%,|/géd/,{'d¢ iX
Part— ii 02

(8x3=24) &, F ez Lty fe (e o gtes

Q.5. | a)Write down the important contributions of Ib- -z/{;ébjgﬁléﬁ|dgi£‘jﬂ/(hjﬂ) Jis
ul-Haitham in science. .4 «/ﬁ;rukéﬂw’ﬂ’/,lgé:uﬁufdiﬂ(e) _5/7}
b)Give four important uses of iron in life. ..4

Q.6. | a)Define Anti-biotic and explain Penicillin. .4 ,’g'{yu,u(w?[‘é'{_%fd/fﬂ&ﬁ(vﬂ!) Jis
b) Write carbohydrates and Fats Metabolism in '@}Mrjgaﬂ/,;&/%@gjg(*) <6/f‘;
detail.

Q.7. | a)Discuss in detail about diet for old and for ,éugcyu,yLi)ﬁJ,i/’lpg//‘/;lu}'z}(Jl) Jis
young. 4 BT LN LL e KA | 70
b)Write a detailed note on eye injury and
coma. .4

Q.8. | a)Explain Hepatitis A and Hepatitis B. .4 ,gwu,de‘/vw,|;|j‘/v&:(J|) Jis
b)Explain the following (DMedicine (i) Pain- j{fjt/_f‘/gu:{._ru’,:%,_kg&;u,d/‘jj@/}(?) _8/,";
killer (iii) Sedatives (iv) Hallucinogens .4 2

Q.9 | a)What is atmosphere? Explain its different ,gyb;JdﬁJgJJl?‘ggﬁ’&!(Jl) Jis
layers. ! 'g;:’/uké‘t,?,d/&,ﬂtmg(b‘,) 97

b)Describe the causes of water Pollution.




MODEL PAPER (9TH CLASS)

&
"&BIOLOGY (Obijective Type ) CAS) i
Paper : I Iz
Time Allowed : 15 Minutes e 15 1 &
Maximum Marks : 12 12 /‘)(
L,T,l,’,.:/u;.d-'u:ﬂ:é‘:é_)é:.lzﬁdlrﬁgcé(db? -ujéé.)D #CeBA :«L‘ﬁ.‘fji_pﬁd‘r/z Y
-b’mr‘jw..flﬁuﬁuf:uﬂg(i.//: Jo¥ L L/Ju:fbu_l,/’cbg -Zf}/@dﬂ//l/p/’bjh’/&(&/
4 Note : Four possible answers A, B, C and D to each question are given. The choice which you
/ think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
/ Cutting or filling two or more circles will result in zero mark in that question.
/ Pharmacology is the study of : : r“_t/:a”&/d-)( L6[1-1
Tissues K73 (D) Fossils §7 ©) Drugs ¥ (B) Insects ¥=1 2 (A)
The tentative explanation of observations is called : : {-(3112'(-") U’JU" ﬁ.' Jb"“»,‘l"'/‘ 2

Hypothesis u”-‘;r LJ& (D) Principle J—’}_ (C)  Theory §»® (B) Biological problem (h{d)-)’:f L (A)
Al life consisted of bacteria and similar unicellular organisms :  : O; ij{(/j T)}"—?J LAs L %‘C JU( V|3
500 million years ago gdbuﬁt 500 (B) 400 million years ago %Jl/uﬁj' 400 (A)

700 million years ago .gdlzuf} 700 (D) 600 million years ago %Jl«j-‘-" 600 (C)

The organisms which do not form embryos during their whole life : : legf.";\ J._l.mgkf}/'dj,_:_' gl 27 /j 7|4
Fungi (jli’ (D) Algae (}le (C) . Animals 44t (B) Plants < ¢ (A)
Group of organisms capable of U Zu J-:C/,_J?Jb'c__J.LL/l&ML_mTJl,:??J/( RIEULLL |5

inter-breeding and producing fertile offspring is called :
Species j(ﬁ (D)  Community Cﬁ! (C) Population u%z’_t_ (B) Ecosystem (L'/ ‘1 (A)
Dark spot organelle forming RNA in the cell is : : ‘meuw'.l_,uué_ta RNAu‘:Jf 6
Ribosome (¥#L (D)  Nucleus JE{: (C) Mitochondrials£6¥L (B) Cell membrane ¢/ )< (A)
The events of cell cycle are : : @Lnrlﬁl[,fl,‘j: 7
Directional (§~ (B) In order U227 (A)
Directional but not in order uf’ui‘é/‘f&’ (D) Ordered and directional J;,luf.._,‘._:} (C)
Synapsis are formed during meiotic phase : H ug"é._u.': AJJJ,UW&’ JI/ 8
Metaphase Il I /'.?L‘: (D) Metaphase | | ﬁ b (C) Prophasell Il /'234 (B) Prophasel | /'.:’;{ (A)
Deficiency of vitamin A causes : : ‘aé’../uf J A cf 619
Merasmus K72 (D) Rickets b"f’: (C) Night blindness %12t (B) Goitre K€ (A)

The diffusible molecules from the : %&cj&é)i&d}fkﬁﬁ;(yﬁljd;QLL.L»L)U).’:‘? 10

digestive system reach body cell through blood after the process of :

Assimilation tf‘-'gfl (D)  Absorption Sl (C) Digestion u’-”(jb‘ (B) Ingestion u’fl (A)

In most plant, food is transported in the form of ; 2 ‘galgp(:.u;.).'/’d L}e u)'uflu;‘ﬂu»{ f'/l 11
Proteins %/ (D) Sucrose Js (C) Starch &L (B) Glucose ¥ (A)
Pancreas produce digestive enzymes and release theminto : uj&/{;;&uk»fﬁ Lﬁ;_;("l):'b:/-élﬁj!/@ 12
Duodenum f?‘)':i (D) Liver £ (C) Gall bladder ,4+J¥ (B) Colon u’( (A)
£ —>
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,.f/ MODEL PAPER (9TH CLASS)

_BIOLOGY (Essay Type) GA2E) a2l

. Paper: I Iz
Time Allowed : 1.45 hours = 145 © o

Maximum Marks : 48 ( PART-1 Jil )

2. Write short answers to any Five (5) questions : : £ =R /"' L ,"”"’ (5) &5 & Jf -2
(i) Write how we summarize the results in scientific method?  SUF L AL ANE G B ()

(ii) How primary wall is different from secondary wall? o Bx_jf:i._ JsaxEL )JU'—'J /;, (i)

(ii)) How would you define horticulture? ?.f.qf_rrf 784 -:h"- (i)

(iv) How grasses repair their parts which are lost by ?ng_lgb‘g:’lgguzéf_f; ) /Ju ,»’% el (V)
herbivores?

(V) Why soil and forests are destroying? \, W )y Lo niets (V)

(vi) What happened if optimum temperature of Sl I Ll F 5C :(,z:/;f FOLY )lb’("l 7‘_!0’( h (vi)
certain enzyme is raised upto 5°C?

4 .
(vil) Why population of indus dolphin has deciined? te $rfud Ui (i
i N ! ] > e
(viii) Draw and label dizgram of fluid-mosaic model of -i: J-f t:_{.’"l!d}tv_( pI ’GLL'[ /J: (viii)

cell membrane.

3. Write short answers to any Five (5) questions : >4 O /"" L =y (5) ég = Jf -3
(i) Differentiate autotrophs and heterotrophs. - '"UJ/.J Lf;/‘%u’u)’/';' (@
(i) Write two characteristics of kingdom protista. &9 Sl M{r)ﬂ/ (i)
(iii) Define cell cycle. ..’dgby/.’.&,?’ LUJE (i)
(iv) Identify changes which occur during s-phase of cell cycle. -’Z.-.’.:«-il‘:g!u.:kiulmﬂ ﬁdlﬁg}:” L (iv)
(v) Interpret G, phase. ' -é._-,:u,‘f 2 G, (V)
(vi) Show binary fission with the help of labelled diagram. -2t/ B A (Vi)
(vii) Enlist name of products produced during photosynthesis. -f’__bz.')Ju"fSI{Ll,e%_ WL /:’wj':’ (vii)
(viii) Summarize the photolysis of water. - Gd /‘J ,(‘IU;"!J d& (viii)

4. Write short answers to any Five (5) questions : : ?! =2 ,"-" L =y (5) && P Jf -4
(i) Write the difference between anabolism and catabolism. &5 /gﬁr),! Qf,,lr),jlg I (i)

(i) How do enzymes lower the activation energy of ‘-'u_.’Lf [ G i, )J(’; I u‘—f 1. ,Jélf (ii)

chemical reactions?

(iii) What is the active site of an enzyme? Sl e us e I (” (AN (i)}
(iv) What are the main functions of dietary fibre in the Ut lf/b/((? I 2664 5u.‘.’_ﬂ;}8l)l (iv)
human diet?
(v) Write the two roles of lipids in human body. -@b/ﬁ;ﬁ);}’uﬁﬁ U1 (v)
(vi) Define transpiration. : _é - /.U‘ﬂ/’yl/‘ (vi)
(vii) What is pus and how it is formed? ?96'2_’; ,,lé,guf- (vii)
(viii) What are the symptoms of dengue fever? ?ujgf.:.l.u‘&&u&i (viii)
( PART-1I (2 - )
Note : Attempt any TWO questions. -g AR ey e ‘51( O
5. (a) Write detail of molecular level and tissue level. -’4@:‘; JJ:JP‘/;U;U(-UL (W) 5
(b) Explain cell membrane with the help of labelled diagram.-2Z.=aLos S/ /Jf;ud/(lfyhidﬁ' (<)
6. (a) Analyze five kingdom systems of classification. -4 b’/""r)ﬁ G kan () 26
(b) Write comprehensive report of steps of photosynthesis. -’d_ﬁdu{fldlgu(mfé JZ./J‘?";:’ (&)
7. (@) How would you explain the functions of ?zq/&U:LLﬂJ(KL}CTjw;/.G?T 7
associated organs of liver?
(b) How blood transfusion takes place in S':"_dnc_'(u)"f’]}uifwu:/ﬂ: ABO ()
ABO blood group system? ¥
& —
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U# (D) WA (C) wbeuT B) o (A) s K s | 4
SO ~Oe e w Bt e Lol s

KL 0 &5 (©) ¥G% (B) st (A) (DY i fesnL of| 6

w7 (D) Jit (C) <1 (B) 3 (A) te ool e § “Ua| 7
2T B (D) Bbezsd(©) IZdzB) L (A) ‘g dEn L2 Flg
Z(D) 6 ©) HB) w W eSS Yoy Fl o
el D) =cf O =B k@ e § T S UL 2Fe|10
740 T (© N (- W7 el ¥ “es |
=4 (D) M (C) ik (B) U (A) e L gf|12

i (D) v (C) =} (B) 15k (A) 1wt 2 e 13

b (D) b(C€)  eH® U@ tewh € Y] 14
Vs (D) Uk (C) el (B) Un (A) e Ud |15
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Fhp LS tewrsbtnr  LUlsiae T AT )
el e L &G yoefUyegreiug i)
e K sub < BT ¢ F o i e ks (;l? (iii)
b §F oE g L F e U U Uiemeres (i)
c v Hemdu g hf U JE U
Voo kY oo AR A RV ST
Ay :é(f.uflrufgéﬂ;{ fnrtianf"é‘fﬂu) (vii)
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ral Qo L s0o Bt e w6 GF S o St -3
AP (e vy -y preagl Sy = oy prex Ll,r.f.__,ffl IU;/A;JIU:GI]—];M )
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. IPaper Code 2024 A
e smber: SSC PART-I (9" Class) (MODEL PAPER)
| CHENZRIRY  PAPER- bgezg U
-:l:l—l\]E ALL(—)_\_VED: 15 Minutes o 15 = =5
MAXIMUM MARKS: 12 OBJECTIVES > 12 =4S

'»":‘.;"'(' LYy @LLL o Jb"&lb'&..—li:/u::_gﬁuﬁbiélibﬁJlrﬁ/,drd'ﬂ -wé".-’D MC DA -'-UJ’.J/&LJI,,;
_f,f,,"hll.v.«lllur)uﬂ:——u‘JL/{/—hﬂLf{fu,;,,

1 Ay

You have four choices for each objective type question as A, B, C

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet, Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question,
D C B A QUESTIONS /=41y ['Sr.No, |
12g 18amu 18¢g 98amu | The mass of one mole of water is: _l\
--UW¥ (Mole) JrfiZ
10% 11% 14% 12% Percentage of hydrogen present in ocean is: 2
-‘L-,/l':b/oﬂui_’hjbﬂ'
Nothing Protons Neutrons Electrons | When U —235 breaks up, it produces: 3
gL 7':5:/' V224 '/':/‘.al -lal.'b.f?‘aw U-235_2
No unit J Kj/mole Kj Unit of electronegativity is: 4
e 25, 20
HCY HF NH, H,0 | The strongest hydrogen bond present in 5
) which?
?lajzfufq_/iﬁl_.gfuﬁﬂh:"‘aﬂ,/
MgCt, KBr NaC¢ C H, | Identify the compound which does not 6
- soluble in water:
L F iy S sl n
Chlorine Fluorine Helium Hydrogen gas will diffuse fastest. 7
o b P sy . bl aqu‘-r
160g 158¢ 156 g 154g | Molecular mass of KMnO, is: 8
Ut E KMnO,
Sugar Milk of Magnesia Ink Milk is a heterogeneous mixture; 9
solution T g L 231 - g A
Sr P
Fe(OH), | Fe(OH),.nH,0 | Fe,0,nH,0| Fe,0, | The formula ofrust is: 10
_9113")5{ (£,
T In the redox reaction between Zn and 11
1, H* Hce Zn HCZ, the oxidizing agent is:
cbnpnl HCU w1 Zn 25160 5
e O LAT N
Silver Gold Iron Sodium is least malleable. 12
dsy br vt v o 14
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SSC PART-1 (9" Class) (MODEL PAPER)

2024 P
_ NIEMISTRY  PAPERI - , A
= = -
{| “ISE ALLOWED: 1.45 Hours £ s b ;/. g
R & £ 145 = =5
V1 MA :
MAXIM®™ | MARKS: 48 | SUBJECTIVE #10 B = I
Norg: Wrife same question number and its parts number on answer book, as given In the question paper. Ul gidr La oz s iy el
SECTION-1 i.»
2. Attemptany five parts | 10=2xs E A LS 2
i) | Whatis element? Write percentage of Oxygen i P 2 * =
b following: 8 D U2 f el T Sdite et | ()
(1) Earth’s crust (i) Oceans A Gi) e ) e SFa )
(iii) Atmosphere
(ii) | How many times magnesium(Mg) atom is heavier =3 - iz -
than Carbon(C) atom. Justify it. Pl () ’(Mg)f') (i)
;k Sl
! (1i1) Wl'xyh few /-\lpha(a).pamcles did bounce back on Erow L oa & Lf o Jiins (iii)
striking with gold foil? T
?Zf Ul &= (a - particles)
i Differentiate betv Bohr’ ’ i T F :
(iv) mIOdzrl.en 1ate between Bohr’s and Rutherford’s atomic -d_)’/./dfufdil-ﬁ"L/:i»'bh» (iv)
(v) | Why modern periodic table is more acceptable than S e (. K i B v
Mendeleev’s periodic table? JAdsubief SoLdidf fgon | W)
fetbtiud
(vi) | Why ionization energy is taken as positive and electron . gt . s d oy vi
affinity as negative? 7T Negative S5 6 | (VD
te bl Positive
vii) | Differentiate between periods and s in a periodi SIN N, : ¥
(vii) able. P groups In a periodic —s.).'//./’d/gﬁil./.'wﬁﬁ)fuﬁd"u@ﬁ (vii)
(viii) | Define atomic radius. Also give its examples. J J{UJC‘/JJ' S P S Rt (viii)
L0 U ZUVA z 2
3. Attempt any five parts. 10=2X5 é/}’- Hiél?lél.c.‘jf 340
(i) | Why do noble gases not form chemical bond? > “:jbu‘;u T J{»‘} ) )
oL U SJes
i Differentiate between covalent bond and dative coval =5 =
u bond. " Yosm NERI NI g G
(iii) | What are Metals? Write their at least two properties. s 'f F s | G
n = Rt 2 =N @[T A Vi et
(iv) | Evaporation is a cooling process. Justify it. et d e o B LE X )
e -&J I, LIEvaporation
v Differentiate between amorphous and crystalline solids ¥t - 7h :
2 along with examples. JITuj e nlsme g Sl a | (V)
Differentiate between dilute sol d Lo
(vi) ifferentiate between dilute solution and concentrated TR A 7 :
solution. Also give examples. I PIN ,Jp,;_/ slfafy | (Vi)
(vii) | Whyd i d soluti I dall il
vii hy do suspensions and solutions not show tynda 5 ; = ol oo e =
! effect, while colloids do? LIS Ol bl ) b g | (VD)
b e T o Tt sz Sl 6
viil 0 *¢ is soluble i ter? :
L-‘ ) w NaC? i . in water ?+letf4'u:dgNaCf (Vi)
5 Attempt any five parts. 10=2 X :

’—.-, 5 e 2R3 -Eof Nzl §f  afdr
(1) | What is oxidation number? Write oxidation number of KU 6t Ba. (PO,). Se AR | (D
phosphorus in Ba,(PO,), . 0(PO,), "l A1)

-ér Pl
(ii) | What will happen if we remove salt bridge from ’ = = 1
Galvanic cell? : oJ6(Salt Bridge) bl kil fi | (D)
xly
(iii) | Differentiate between Galvanic cell and S =
Electrolytic cell, tf O s Lk gniag gy | (i)
(iv) | Which reactions occur in D. 117 -
v ich reaction n Down’s cell? p s & :
( Wn i fvsicaland ?tﬂLﬂ/.»‘;Ci':u)"('dJc.quﬁ‘rgﬂ; (iv)
\ rite at least two physical and chemical properti I T T
: metals. PEpSTIGE R -Ue *E‘!”tﬁ-?»'%;{c-ﬁ(}':‘ )
(vi) | Why Group-1 elements are called “Alkali metals” and L o 7 c
Group-2 elements are called “Alkaline earth” metals Ijlkuﬁ’*{-/g’(ﬁféz‘v‘”c"l - (vi)
.. respec.tive]y'?. m:éuﬂ‘ciﬂcfm:
(vii) | What is the difference between Steel and Stainless stee]? S G A m | (vid)
(viii) | Define Electropositivity, with one example, > g Ty Ay
Also give its trend in periodic table. VF S JU'-’-/'&.’/-G e Joogi | (Vi)
'.éﬂ&ﬂﬂﬂmrv" 4]
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N(‘yn.‘,g Attempt any two questlons,

S(A)

()

6 (A\)

(3)

1(A)

(B)

SECTION:I
||u~zxo

What do you know about ¢hemical enleulations?

Explain it. Also deseribe Mole-Mass mnd Mole-Partlele

calculations, Also give summary of Molar
caleulations,

Who did prove that *Plum«Pudding™ model of atom
was not correet? And describe its model with results
and observations,

How will you justify that bond strength in polar
covalent compounds is comparable to that ol jonle
compounds?

Define and explain Charles Law of gases with detail,

Define electroplating. Write its principle. Explain
clectroplating of silver and zinc.

What is solubility? Explain factors affecting solubility.
Explain how temperature aflect solubility?

rn./

P g W RNy POV 2
S I Molo-particle a1 Mole-Mass o/
5 Wt SIS
b L J{ff»l._lf M (Plum=Pudding) J?Mv
. q/ug&-“ "7?/',fw:fgﬂuzlnuhy’dw:m
Lanrveud e/ )M ),"nkf;;’} .,J
5 .,,{.-)Lh 1L u,'f

Sy e Ao Lwolenfude £ AL LS iy
4 /)

[ (A ).5

()

()6

(o)

L g S f R VS S Lo 2

5 S eZine) K (Silver) s ST
."_f}lii/'uﬁ‘;.uffwT;.L/(Solubi”ly) FEsr
q ﬂ'.;_t'n}ly'/,d‘lf.:’r ¥(Temperature) /,/.) 'y

(.7

()

|

"{4/ wlMCulﬂm@.J{ - “.MJ 7
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: x\um&:»%_r < SSC PART-1 (9" Class) (MODEL PAPER)
| CHEMISTRY  PAPER-I s
. U4 UFF
!llME ALLOWED: 15 Minutes o LT,
, » 'd . .
| MAXIMUM MARKS: 12 L OBJECTIVES >~ 12 = IS
i pie S A B A Sz g L ozenatund e yzv Ldir 43602 Lz sDaCB AL LL iy 1 /';d'f
You have four choices for each objective type questionas A, B, C ot sl 2o A Sz S SIS NE S 3 s
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
| D C B A QUESTIONS /=iy Sr.No.
| Physical Nuclear Organic Analytical | The branch of chemistry that has vast application 1
| chemistry | chemistry chemistry chemistry | in medical treatment(radiotherapy) is:
gL | apEAe | eI | oS e Bl st A rhscsted bn i A
| Rutherford | Goldstein 1) Sir William | Noble Prize in Physics was awarded to in 2
‘ 5k Jesd Thamson Crooks 19062
X1 £ s
S | Sy VS A3, 1906
1 clectron | 5 electrons | 7 electrons | 17 electrons | Halogen group has electron in its outermost shell: 3
Y N¢ P sl Py e B0 O Mab gt S P
HexH He-H H-H H, Which structure has Lewis structure diagram? 4
e B Sus saS Sy S staUf
l4gdm™ |15 gdm™ | 1.6 gdm™ | 1.7 gdm™ | The density of oxygen at 20°C is: 5
-.Lan&’-'-:‘u(tf:?/, 20°C
HC? Li,SO, KCt NaC¥¢ Which salt does absorb heat? 6
et ez US
Zero +2 =1 -2 The oxidation number of oxygen in OF, is: 7
< APIWF T OF,
Metallic Greasing Alloying | Galvanizing | The process of coating a thin layer of zinc on iron is 8
coaling tfu{f jm j/’l,l}“_f called:
L i -u].‘ffff&LLz:JA.{MJ)zﬁM?
Cesium Osmium | Aluminium Uranium | The most reactive metal is: 9
b ot (_::’,h r_%,! -‘L(J;:)"-(IL‘JUE]L.._/
Gas-gas Gas-solid | Gas-liquid | Liquid-gas | Air has type of solution. 10
A | v | b =l e Fin
46% 78% 86% 47% The percentage of oxygen in ocean is: 11
_.L.AJ'JJ"JTUZM}’
H, HC? NaCt KCt The example of Covalent compound is: 12
e Jedidedsd
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| = :
"»".;\\_.r;\: SSC PART-I (9" Class) (MODEL PAPER) 2024 Ay
JCPEMISTRY  PAPER- be-24|  UHE
" TIME AFTOWED: 1.45 Hours & 145 = =,
MAXIMUM MARKS: 48 SUBJECTIVE 212 48 = /J
NOTE: Write same question number and its parts number on answer book, as given In the question paper. .4.(-,;:‘;{4.11;—/;‘5@,,/2,,;/‘}1,0,,&@,_,_L;
SECTION-1 Jii»
2 bl L i s l =g ts L jNrlambye §f 240r
(i) [ Write the molccular and empirical formula of sodium -Ll//jUr/litﬁﬁlu'/::glb’}fuﬁﬁjy i)
chloride.
(i) | How can you differentiate between free radical and ion? S LS Ll STmbinsjr | (i)
(iii) Define Mole. sy (iii)
T"T_ Write electronic configuration of chlorine. _Jf/_/;d'g}i’vaf.gu;d”{ (iv)
() | How many isotopes have carbon and uranium? s pE RIS TS E g )
~(vi) | What is Carbon dating? e ik | VD)
W Describe Mendeleev’s periodic law. -J/ukﬁuu@g[eé_ﬂ;"—: (vii)
(viii) | Why does the size of atom decrease in period? ?c_rn[u,_f-ﬂ,{r‘:,u:;ﬁ (viii)
—3_’__ Attempt any five parts. 10=2 X5 _5‘,"-:/,/’&&'15'2‘53:—6/ 32Ul
0] Why chlorine is bounded to accept only 1 electron? S udibE SIS B s g | )
(ii) | Giveone example of coordinate covalent bond. Loy a7 (i)
(iii) | Define Covalent Compounds. _J/‘_‘-‘,}JJ;;‘/_.;L”( (iii)
(iv) | Describe two characteristics of liquid. S L«y;;;;(,;ét (iv)
(v) | Convert 140cm Hg to atm . /L atm 140cm Hg )
(vi) | What is your normal blood pressure? S B 2, KT (vi)
(vii) | Define solute and solvent with one example. -J_/J/aflzﬁdl‘/l.f_uf_‘;,’vﬁu,:}« (vii)
(viii) | How will you prepare 1M NaOH solution? LSt 1M NaOH i (viii)
4. Attempt any five parts. 10=2X5 -é’-{déE'ﬂﬁ'Zlac—Jl 4/Jlr
0] Wcﬁnc redox reaction. -J/J/?Jd:{ld/‘ﬂ}/ )
(i) | Calculate oxidation number of sulphur in Na,SO, . -«J_/(P/IJJ-J/TK/’PJ: Na,SO, (i)
(iii) Ygu !)uy a tin packed beverage. Whic!1 technique used in R AN BLsF sl Lt (i)
this tin packed beverage for preservation? : =
Se bW 25l LF
(iv) | Does non electrolytes form ions in solution? LA TP U i (iv)
| (v) | Which type of elements arc metals? ?winﬂ"u""-{l&(’."/ )
(vi) | Write two uses of Magnesium. -u//}_-.uu-“rmérf‘-‘{’ (vi)
(vii) | Write the valency of Chlorine. N a2 (vii)
(viii) | What is meant by Halogen group? et o en /P ska (viii)
SECTION-II ¢n-»
NOTE: Attempt any two questions. 18=2 X9 _éd_-,pgé_.,m,,,;d[ v
5.(A) | Define chemistry. Explain any four branches of -)UJJuszWJde/“-{-J_/J/‘?Jd‘/f (U5
chemistry. 1+4 o/

(B) | Write note on defects in Rutherford’s model. 4 _J/4j¢,)/wj®£J5L51}/;/ )
6.(A) | Define lonic bond. Explain with example. 243 -LJ:/VU’LJL‘AL{/IML’/‘TJZ'&J{‘T (-6
(B) | State Boyle’s Law. Describe its experimental 143 S dA0ASU g S S | )

verification.
7.(A) | Give at least five characteristics of suspensions. 5 -q/ugay/égﬁva% .7
(B) | Explain oxidation and reduction in terms of loss or P e L P m LoD | ()
gain of electron. i ) ’
4 Gl
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ADVANCED ISLAMIC STUDIES (ELECTIVE) PAPER-|

A

b-g¢ € ) ppLiviidnll

TIME ALLOWED. 20 Minutes or 20 = =%
MAXIMUM MARKS: 15 OBJECTIVE %> 15 = AS

Q.No.1 You have four cholces for each objective type

B A e | ANl e ULVl W% - ELEs D 41 ¢ B A by LI
-fn;raw-rM-zﬂJanfL[é Jox ! L_/j,ﬁ,}lmyc--g

1 A

-?..5/"(’; e J'_J‘ »

question as A, B, C and D. The cholce which you think Is correct, fill that bubble In front of that question number, on bubble Q.No.1.
sheet. Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark In that question.
D c B A Questions / =l Sr.No.
Morals Stories Dealings Prayers Trade is related to: 1
el :_.u‘;‘ ERON Y ==y _?Jub’_wlf
Believe in Believe in Believe in Angels | Believe in Allah |Haughtily is the result of: 2
Last Day Prophets Vol U Kozt dui e £m?
Cole = FT Kotz
Recitation of Zakat Fast Salat According to hadith the superior worship is: 3
Quran Majeed 0 Y MY y _.g..-.:t_/()"jd&'ﬁ.:.:»
Ao i=wr
Powerful Wise Independent Helper The meaning of *“ J5lf” is: 4
S #J;‘ S8 Hoa -lc.d“‘b’ "JLS_;IT”
Understanding Knowledge Seniority Piety The condilion of benefiting from 5
1"‘\ ( i ox it Quran Majeed is:
e bl le 4uT)
Hadith ljma Quran Majeed ljtihad The way to know the numbers of prayers is: 6
ew Ll LUi) e e WL S fusiv
Knowledge Hard work Reason Power The reason for superiority of human over 7
(l' = S =’ animal is: --f_.,,,—(_-,{ﬁ'{ul,gJuw
Backbiting Lie Cruelty Hate The root of sins is: 8
= O 4 ("; =} -e2duntf
Five miles Four miles Three miles Two miles Distance of Cave Hira from Makkah was: 9
Kb S 3 U Blbe L ¢ 126
Ghazwa-e-Khaibar | Ghazwa-e-Ahzab | Ghazwa-e-Uhad | Ghazwa-e-Badar | Digging trench is related to: 10
o e iy e ol e uiv} <0 Lados
Five years Four years Three years Two years The Muslims besieged in Shaib-e-Abi-Talib 1
L) £ Fut A for: - ARt
Responsibility Simplicity Honesty Affection "The Rasool-e-Akram ;rk:'vld" }\:,P;,;?ﬂl FG 12
g S INY] =t rL,._Jf was not indulgent" the heading fs:
Y .,lB._Jn.bluL"}.-.P;,;?in FoeliJrs ™
-‘Lulr"( " &
Harb-e-Fujjar | Ghazwa-e-Khandaq| Ghazwa-e-Uhad | Ghazwa-e-Badar | There was a reason for treaty of 13
A’ Jssiny wliry b Hilaf-ul-Fuzul AR
#! ! ] (W An example of intrinsic feminine is: 14
- JOLif sy
bl Ll Ll SLYs Proper noun from iF s 15

m CamScanner
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"\ S A o) 1 equiPAE 2024 [\’/—/T
vae SLAMIC STUDIES (ELECTIVE) PAPER-| [ m
C " TIME ALLEWED 210 Hours & 210= 3| SUBJECTIVE i MAXIMUM MARKS: 80 €0 = S ]
NOTE: Write same guestion number and its part number on answer book, as given In the question paper. -f-‘f'-ufy.( Il ‘w /‘ 0l / rds (d’d" :i‘
SECTION-I Jilo

2. Attempt any five parts. l 10=2x5 41/__“’L'7,£&‘_Jf -2/;""

(1) Describe the relation between faith and good deed. ok J’Jwib J‘:’UV'J __,(2.

(ii) Write four effects of Aqeeda Tauheed on human life. -sfl/*ﬂ?{JiidV'L‘-’"f’ _,@-

@)  |Write four etiquettes of recitation of Quran Majeed. 1 45_",,41-,?; WLt g __ﬂ)_

(v) | why the Rasool-e-Akram (L»,!T:Ji'd‘ was called u;.ujl e u._._._]l /o ulf (u, rZs i | W)

Wi ||

(v) Can a philosopher who is disobedient to Allah be called wise? Justify. | -zl Ys-ﬁtk{f?ﬂut/‘tm"u'zﬂ’g __(_vl

(vi)  |How a human is different from an animal? Explain. ol - _‘y4 =YYy _(_vl

(wi1) Write literal and formal meaning of prophethood. » JJL,,JUM,,:J,UL_-JW (vii)

i) | Why prayer is obligatory on everyone? te(ilg Teusu | (i) |

3. Attempt any five parts. 10=2x5 é{/’_wgmél.c_df 34w

D) Write difference between Tarteel and Khush Alhani. -«_L—’_//QMJUUMJ‘/ (0]

(i) Explain Tadabbur Quran. s sl lei (O]

@) |How a Prophetis better than a reformer? fe e 3 4&44’ (iii)

(v) | Write two effects of tribal system of the Arabs. ¥ _40_;. ThVi (IEJJGLUJ! s @)

(v) Describe the relation between the faith and moral. __éul_,. Jud‘LVJU;'u'ub-” )

(vi) Write four attributive names of Allah Almighty. ~£‘};Juﬂ L (vi)

i) |Explain il adps” ol e Hatz” | Wi

(i) |Make irregular plural and dual from “ ’rh " b S 557 (viii)

4. Attempt any five parts. | 10=2x5 -g-:_/]’.g,l_.lzﬁ,lzlégc_df -4;{)"?

[0} What Silah-Rahmi demand in respect of a relative who is patient !‘q.l_f.;‘ii Kbt A E 2l Al L (0]

and hungry?
) |Explain “ gz 1Tss i e LT el i g 0 2 A | @
(1) What meaning the Arabs did give to generosity? S‘l_,;r_-.j’ l_/f.—.:t‘s'Luif (iii)
(iv) Due to which evils the Arabs were called ignorants? ?z_ufq;dlgvf‘}lc_,?,{ugudl (iv)
(v) How elders can be beneficial for us? ‘?u_rén.-f.b_i‘d_’é.c_/h.ﬁz )
(vi) Write an example from the life of Rasool-e-Akram ,_Jf.ﬁu}’ }.:,f’o;.:ill ("L; :_J;;J ri’,,ljl',ckj!ul’}.:,?o;_?i]l ("1; 'rfu,«, (vi)
/4.7 about determination. 5 _aqj@'.,_ﬁw@;.,ﬁ

(vi) | With which ways did the Arabs oppress the animals? Write only two. -4({;_5/‘ ‘.‘il_//x{uu;‘gﬁ_ U)EJ)J:',}JI (vii)

(vi) | Write a short note on first migration to Habshah. -_dd-‘-;/‘?{.i.-’:,ﬁubi (viii)

SECTION-II rM

5 Translate and explain any two of the following Quranic Aayaat: I 10=5+5 I L6 S ifetnipe LA T3TALEs -5
(A) 0 sl puall 38 € 53 l4hay il e © 3:~I1u1~1 PRI (@)
(B) o pulih ptaa e a2 1y IS tisy b Jusad 5 o s 5D pai) 52 3 5 (&)
(©) ko Tugh ity ik 5 b € oan e Skt 3 s widly G52 Jaf 30 38 @)

6. Translate and explain briefly any one of the following Blessed "AHADIS". 5 -ef:(C/"l"vf;‘-‘.('\f;—tﬁﬁlf&:buibu -6

(B) i pilas by ol 3l () (A)  bolan iy sassL ()

7. Write down the answers of any two paris of the following: 5+5 -2l S fe B T
(A) Write appellation of Harb-e-Fujjar and describe its relation with Hilaf-ul-Fuzul. - ut.e.J“.cJ ".”'-ﬁ?(dl'f.:éq._ﬂ:',p&l}v 7 ()
(B) Wirite a note on Khatm-e-Nubuwat in the light of Quran and Hadith. -40-91\—9{;:.’? LGS acin) ()

(C) Write a note on preaching struggles of Hazrat Ibraheem(A.S). -40.*.).{'{;)}%’ J,’,JruJu‘r‘q e (L)

8. Write the answer of one part. 5 -c{//w'ibﬂiio’r 8

(A) Define Irregular Plural and write its three examples in Arabic. 2+3=5 dduJ f/uf&ﬂufd /,,1{_,, A{ /f g (W)
‘_(Bl Define Feminine and wirte its three examples in Ar'aPic. 2+3=5 -400‘-,0@&0";(% ol _é . /'U wp (7)
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2024 2 ‘
N & U CF orn) |- PR __:__:__L’Jj
ADVANCEDHSLAMIC STUDIES (ELECTIVE) PAPER-| by op ( 20 ) pr Lt
TIME ALLOWED: 20 Minutes e 20 = =
TI\-I:XIMUM MARKS: 15 OBJECTIVE U.‘-'/" 15 =‘£{Z_

a.No.1 You have four cholces for each objective type

[ ik | SANISOWL L erne L UL L VEdra iR -BELEID s C B A N2 LI
AW il e SLI, Sk | LS nmmmiieat]

1 Ay

question as A, B, C and D. The cholce which you think Is correct, fill that bubble In front of that question number, on bubble Q'N°'1 s
sheet. Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark in that question.
2 £ 8 A Questions / = Sr.No.
Alhamdulilah Subhan Allah Bismillah Aaozobillah | Tasmiya refers to: 1
A Ayl A i —epe et
Inheritance Dealing Divorce Jihad It is related to worships: 2
w1 (i (5w e B,
Beliefin Divine | Beliefin Angels | Belief in Risalat | Beliefin Tauheed | It creates a revolution in the thought and 3
Books Aliu Alia® 2T action of man:
A et Bt SSEL U
Fell Wasted Became thin Became fat | Meaning of “ ELiis] ” is: 4
17 Vdls i it c oy Gl
Tableegh Jihad Namaz Roza The best lesson of unity is: 5
& o T 2iss —e Y A
Act of ljmaa Sunnah Quran It is a source to know about rituals of Hajj: 6
Sahabah(R.A) Ll > ol —e e ML L
S
Telling a lie Backbiting Malice Jealousy The sign of hypocrite is: 7
st = N » e fs 12
To believe To accept To verify To understand | The literal meaning of Imaan is: 8
t/ /e /P el —e G
Fourteen Thirteen Twelve Eleven The number of men in first Hijrat-e-Habsha 9
o7 o Iy g was: B un st e A
To do justice To oppress To forgive To get revenge |We get the lesson from the conquest of 10
§i ) )u 7 ¥ S 2N Makkah: e b U= LD
To convey To call To frighten To advice The meaning of Tazkeer is: 11
tgs b b3 tSes? P o 75
Four years Three years Two years One year Banu Hashim remained stranded in 12
Jop Joof Jon Jocdi | shiab Abi Tallb for: e L2 Jbdiari 5
Soldier Hawari Saints Sahaba The Holy Quran has named the companions | 13
(L1 (3704 (A (A of Hazrat Issa(A.S):
—e bt OB L e 2l T
é.Li.;.li alisls 3_‘,.2.1; Hiilad The example of regular feminine plural is: 14
—eJedfar g
Five Four Three Two Signs of feminine are: 15
é& 41 o » UL el
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;‘*‘\ SUl (F ) I - SuPISASLE 2024
Py /Aﬁv"‘ £MMIC STUDIES (ELECTIVE) PAPER-| | T (RO — D
TIME ALLCWED: 2.10 Hours H210= [ SUBJECTIVE Wi MAXIMJM JARKS-GO - ==

NOTE: Write same question number and Its part number on answer book, as glven In the question p.”r"‘f-b‘ﬂdy(-é'rﬂﬁb»m"’"qmm -2
SECTION-l Jile

2. Attemptany fi fve pans I 10=2x5 -efl/’-!'?ﬂn?‘-y -Z/J'/
0 Translate il J:" A i3 ol &) Y 0]
— J-’ =t |
(i) What was the condmon of Arabs at the time of revelation of Y _-)H/J e Zo /.- s (ii)

the Holy Quran? LUy

What is the lesson for us in the Rasool- e-Akram;.Jf,,wJ‘j_, -t U_,_._J| (l, P19y T —-_(lii)

('") “w . =% .35 “9 r"'””l""” j"/’u"‘"‘“ (br Jfl
( ;.ll attribute £ paiys f—u"lfia./(nu' “« ,' uﬂ-l)-"
i i Musli th beli f
(iv) On which things, a u-s im must have ellef’.? Tcd,,/:uuul/u.zJé.LuWJ (iv)
v) Explain the example given for Sahaba(R.A) in Torah and Injeel. J J& U’J_LNL; Mu‘/rl/lé‘u’tf{'”’"/’ )
c‘_":-)ldi
Py ; - g aai :G i er P > T i, —m
i)  |write meanings: J5Sid coaigall - ol . S haa e . 2Ll -
: I Ggll s _H:J_—__
(vi) |What is meant by Tarteel in recitation of Quran? Ty T J’/ el (vii)
- : BRITE $72 i)

(vii) | Make Tasniah of the given words: plias . 313 CL.A. rl‘ Y b/JLU’Jé—’ (vm
3. Attempt any five parts. I 10=2x5 _é,i._,u;&m&tc-tjf _,3/._)!;’
(0] Who are the people, who truly believe in Quran? "u'-@’ufi-’:é/uwtﬁv"',’u'/ (0]
(ii) Which benefits, we can get from Roza? o =SV ud ;L{(é.)u (ii)
(i) | Write meanings. GLiT . ads . plE L pad Gl 531 3L - a2 _o e | i)
(v) |Who are the experts of Quran? ur SydT b (iv)
(v) What is result in society of not respecting elders? (-chf JbL/‘wau,’:,u.'./b‘ (v)

(vi) |Translate: gl:é‘_fl o iLg_-’.JT ¥l B :Lgs.ﬁ L (vi)
(vi) |How we can be human in true sense? véuéuwu’uf‘?ff (vii)
o prendE | wii)

| 10=2x5 _.;{,/’_,ujﬁl]lglvc-(jf -4/

(vii) | Write two examples of Kalma.

4. Attempt any five parts.

(i) Which synonyms of Tableegh have been used in Holy Quran? "Jc.rdl.-’u,u!;.ufu”(’ﬁd’u‘/u'/ (i)
() |The Rasool-e-Akram (":47:11‘.5'(}‘};.;@;?31 (G is the leader of all L i A 2 51l FecSirs (ii)
Prophets, Explain. EEACE TRy
@iy  |How the status of Prophethood can be obtained? Y‘-_Eﬁbb(}‘u;z,)f_,»(_-v’la (i)
(v) |How we should treat our enemies in the light of Seerat-e-Tayyaba? el Lf~s/b(¢-u:‘3z_lfu'cﬁ1g,(z"’u/ (v)
(v) Which lesson do we get from the torments given to the people of fe u-’l_/f;uzle_uLxJ;t{uf/ri (v)

Pharaoh?
(vi) | Allthe Prophets had same basic teaching. Explain. y Sl S U"-_f'ﬂu d)?lfrlu’rﬁlc g (vi)
(vii) What is the practical method of reforming of humanity? “aw.:;_)&’ KLIJJIJ._JUI (vii)
(vii) |How did people of Taif behave with the Rasool-e-Akram (l' ) "J‘J'Ub Pepp u-uJ' Id lorf Uiy b | (viii)
Pt i d b 2 i 76 2 Wl

SECTION-II r».&’
5. Translate and explain any two of the following Quranic Aayaat: | 10=5+5 I -E U\l uf-:vl_-"d TAtstn -5

- 3 2 e 2 s AL s 3 e A Z, =
(A) (TS gy el paleg 9 :Uﬁb@m‘t" A5 e o 355 ol g, gl (@)
(B) 0 pibll gl 5 36 & Gale B g GUT LI W s K (o)
©) bont AL 5 dn Jszs o sy o sl BT S PR @)

6. Translate and explain briefly any one of the roIIowIng Blessed "AHADIS". 5 -éf;ﬁ/’:"-ﬂib’vﬁdjc-‘ﬁ)’/yu)bld_ibn -6

(B)  lilh il Qi i () () 3ol plsgh ghal g Tl Sl ()

7. Write down the answers of any two parts of the following: 5+5 -Sre iz liaind e Ldioer T
(A) Narrate in detail the events of Prophethood period of Hazrat Musa(A.S). -U'/L')LfC—t}fv'-:'l;'h’:b"’lﬂwérlu‘ﬂtlffof’ ()
(B) Whatis the importance of Ageed Khatm-e-Nabuwat have in Islam? Explain. ol ?cvflb(ﬁ(u"(fvr(’aw ()
(C) What lesson do we get Z:.,)MJ"" X‘q_ctg’gu‘g_,;évhvu":—v/l!f JI;JMJ"}V/’QMH ferfide @)

from the Seerat of the Rasool-e-Akram ,)’JYJJ,./JJ‘}..,/’Q“J #6? Explain in detall.

8. Write the answer of one part. 5 __é{/l,lgb’,z.ﬂ& -8

(A) Define proper noun and write three examples in Arabic. 2+3=5 -.é!id"“fu'fu)fd/ﬂ'_’&.{-é’/"'&/“f' n
(B) What s literal feminine? What are its signs? 2+3=5 YUEJUI(UL‘ILU‘JJ' ?kﬂn;—rétfﬂu‘f;’ ()]
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QUESTION PAPER PHYSICS-SSC.1(2024)

SECTION.1 =
TIME:15 min Marks:12
OBJECTIVE
QUESTION A B C D
1_ ‘Normal human body temperature is 37K 98.6K 310K 273K
= _)?.__l_);mji S PV Sl Al Cinaa
2 | Magnitude of F, and F, will be equal if a force F acts at 30° 60° 45 90°
angle
238 F G s (8 s SO e (S Fy Ll Fy
3 | The device that converts light energy into electrical Electric cell | Electric bulb | Electric Photo cell |
energy is Generator
8 a5 e SO S a0 Y g il g ATV FEAES U P R
4 | The symbol Kg m s is used for the S.1 unit newton pascal joule watt
=09 = U et Kgm st ) S & S| e
B Jsly AFEN Sy
5 | Water Freezes at oF° 32F° 0K 273K
S od s rudos S
6 | The Vector Quantity is Density Distance Speed Momentum
o e Sy |f .
7 | Among Newton’s law,s the law of inertia is First law Second law | Third law law of
. gravitation
= A8 i e e (il B S (Fs O8N s Mgy | g 1 pad | | i
NN
8 | In gases heat is mainly Transferred by Conduction | Convection | Radiation Molecular
) collision
= s LS oyl e JLESSE 55 00 ly) o SenS OESEK R PS R Y= 1g) S sl
. 355
9 | Aspeed of 10 m s'when taken in Km h**will be equel | 3600km h* | 1000km k! | 36km h*! 100km h!
to ] )
S soy 5 Bley e Kmh? xS 10 m s Sgw
10 | The graph which does not obey Hook’s law is XT P XA X/{Z XN
L~ - o=
= | = —F | . F
11 | The orbital speed of a low orbit satellite is ) 8ms™! 80ms™? 800ms™! 8000ms™
2 R (S DS R S B Sl
12 | A correct form of equation of motion will be vP-vf=2as | vP=vP+2as | vP=vi®-2as | vit+vf’=2as
Caus 3 (S Sl gl (S 28 ja
| 8 5 cupm
-___| - S - J

Iy /4
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SUBJECTIVE

/ Part1

Q.2 5%2=10
Attempts any five parts

I . Differentiate between Base units and drived unit oS (A ) S oS 38he sl oS s
I1. How will you measure the least count of screw gauge?  £.=8 (i pstas S St B gL s Se S G T
MIl. Draw Speed time graph showing uniform acceleration?
) ¢ il Bt S S S o8 Lol 5 S TTT
IV. How can a vector quantity be represented graphically? ¢ - UiSws la LSl oS S8 £ 5 1 205 STV
V. Write any two factors upon which accuracy in measuring a physical quantity depends.
.t Seaadl 1S S a3 I S R (SMRa i S 2 S el 51V

VI. Define centripetal force.write down its equation. - oS Ol gl Sl b S e S s e VT
VII. The speed of an object is 4 m s* and it becomes 2 m s in 10 S.find its acceleration.

- UL psta G S s g B b e D B g e B 10 85 B SR AR S pca SV
VII. Define an isolated system.write down its example. et Jlia Sl J5) S i a5 (S afes B2 0 VT

Q.3 5%2=10

Attempts any five parts

I . Values of perpendicular components of force are 8N and SN.Find the magnitude of this force.
- =t pstee MR € s R Sl s SNUSIBINGR (S (TS (5358 S uost S ]

I . Differentiate between center of gravity and center of Mass. -« A s o-be il i sl (Joss S il e T
II. Define a rigid body.. S i 25 S edh 3a g TIT
IV. Define gravitational force.Why do not we feel this force between objects around us.

o5 O O 88 e sh e s S Pl S R 2 ey S eSS (s £ Gl gt TV

V. Define work.write any two factors upon which amount of work depends.
= g Jlaail S Jloa (SS9 g 0 S Jalse b S S (S S,V
VI. What is an ideal system Practically such a system does not exist, why? Ui 05as (58 pens Lasl. s LS s | e VT

. What is an artificial satellite.How centripetal force is provided to it.
= 5 b oS st By 5 i mgtha oS el 38 LS S Sghas VT

VII. Find the torque produced by the force. § a8 pglaa jliia S S U VI

™~

~

‘o, j
—r
e

200N

10cm—
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/\ S Al 5*2=10
Attempts any five parts

I .Write down the factors upon which pressure of a liquid inside it depends?
= L leandl LSy S a3l S e g 02008 3033 Jalge 0

I
II .State Archimedes principle? =S R AT Jgeal K el I T
II.Define Strain.it has no unit why?

£ Uiy O3 Caiga S (b S oS S (i . T

S Qi O3 JiSe 05l oS @i b 08 5 &5 100 I

V .Write down the values of temperature of lower and upper fixed points of centigrade and Fahrenheit scales?

: oS Oiad (S o S il gy B i) gl gl S e i Mgl O B R B Ly

VI.Why the value of temperature coefficient of volume expansion (f3) is three time as that of temperature
coefficient of linear expansion (a) for solid.

IV.Convert 100°F into temperature on Kelvin scale?

L O ()i () oS 5By I (Ao uad (S(B) s (A 58 Sy Ul o pslla o Se Ll st VT
fuss =
VI.write down any two factors upon which the rate of emission of radiation from a body depends?
1S 7 (S Sl (Mg S g o S Ol shy o pesd (€ s 0 28 a3 Jalge sl 50 VT

= bg jlas)
VII.What cause a glider to remain in air? C S cuw Sy s I S RE VT
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; PART 2

Marks 9*2=18

Attempts any two question =8 i cbln S aVl g g3 S

Q.5

(@) Whatis a graph.Draw distance-time graph for. .= Gl f ailiabah ) S 00 gos e LS il £

.  whenobjectisatrest. 3OSl e caa
. . - - . -
II.  when object is moving with constant speed. s by S D GBS aea caa
. . . . - b
. when object is moving with variable speed. c 50 S A S (5 g pead i

(b) A body of mass 5 k g is moving with velocity of 10 m s.Find the force required to stop it in 2

seconds.
= =8 S o B 93 58 O by S S0 e B 8 S50 B 110 pusd S 1S el o1 S5
S agha uyd

Q.6

() How a force is determined from its perpendicular components? S (u sd —w 334 (S (il g1aS (54940
o St
(b) The steering of a car has a radius of 16 cm.Find the torque produced by a couple of 50 N.
Vg e Iy i O S (08 50- = e (Al 16085 WS Jag S S IS g

Q7-

(a) Discuss the factors upon which rate of flow of heat across opposite ends of a material depends,
Hence drive an equation for thermal conductivity?
CuhmﬂLSc)uuSyLw;SuJ‘»cuu»hm—ﬂmuSdﬁmm&fuL:ﬂuLud-:U“- X
C\;.&h\u\‘g\.uuusuu‘g.ﬂus‘}a_)é.a_)u
(b) A container has 2.5 liters of water at 20°C.How much heat is required to boil this water?
= S 58 S el e B8 A o 8520 sl 1S G o 353 5a (A 1 2.5 O G S
o M8 e IS S eln
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S .
< ° 4 .
FUs(ENT B 227 s i
Objective (§*3*
Time: 15 Minutes 2215 =,
Marks: 10 10
f.-;u;iwz:__,n,z_-/,,gu:u,/'uZa__,:f_védlrﬁ/,qw'ﬂ-uzéf{-:D MABCUZ K e Ly fio i
_()’urd-bl".TJ)?DJJKJu::—/fJL//?/\-:—‘LL[{_[‘J’/’UA";C_--_(’-éJ/LQ;LLL
SECTION-A i.»
| Sr# ~ Questions/ = 1> A B c D
1. _d{,(_:,,u-d:,g,,ﬁjl_f' Ly sy E iy é'?/r
|2 | WS S o S e | 2Py N7y Ay Sy
i { -
| s, ¥ 4 -2l
L 2t U s LG i
3. | S $7k ~ = Sl
! | ‘e
H | -
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o
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UGN P27 g i

Subjective e
Time: 1:45Hours us 1=
Marks: 40 40 A

B r 2 i
SECTION-B (5.0

St -éliulr’f/‘;érl?lébr_(jfz
-ij\./'ﬂl:d/fac_lgfuw_,/)

I £y ii.

o nlsgr i

_u:’d,,u;(,,/-y.;,, iv.

-d-‘ffguJuC’-'br v.

L7 Ny

¥ $e A VI

U ﬂ/mb’lb’ [WJ'WH'\IU' viii,
{5x1=03) ‘—[L"'LLU’L}/’iLC—GJ(c—(ﬁJ)bJ) 3
S | @ oF | e

SECTION-C (r.»
(3x5=15) :J.J./"mlfl.n7ldc.£jfc—;ﬂg’3é;l;-4
(n)[k:—.;n:s,'fj.ll ,La.lb@-@,\ m&lg;u@&_f i
35 onE g6 ();Lg:dl 23E 19 5058 a0 B g3t JJ\ RESTR PR R

(*r)(-L? (NE2% Prlftion

>

-

(ri)u,’il”"'(’rz)dL’JéSS"’«.',\Li\;(’rw)g’;ﬁm,}id.i(ro)u)wd(,;-!QJCJL’ i
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T Questriorz 2.
//_ 2% x-*‘;fu"cc--’iv’uevﬁ,_)ubéQ_Jé.lrédlr//(émli ..uj.{:rjn » C«B a,\._,[,li,@bﬁdlr/ /-_;dﬁr
[,’ s l'm;jwvl.? i3 g,d uJ)‘J L/J 2K Iy 41( UsZ sl e -.f' - 4’/

| Vi3
/ B A { Questions / -.aUFr -
/ 20 35 5% | ) ’?V:J‘JA 20
/ { 39 in term of percentage is; !
oY ANt i iz i T2
e Weopode | g v sedS ab
Mean Antecedent | Extreme In aratioa: b, b is called:
0 s USSP Se20e 1535
0% i 2 IOn the crop produced on natural resources, Ushr is
_ L {deducted at the rate of!: _
1 | U T O 11 ‘ o b’u'a—uf)'a.“leb(g—hﬁuﬁi-r\f Ogg L
K 2’4 23 2'6  !Ifthere is one daughter and agnatic grand daughter their
o : "shares are respectively: Sgee
3 3.3 ! 5. 3 =, 5.0 |
T R :-"3_ ! >4,7.,£_ '/:'7.-"-’_ i /a.t; s
=¥y YN =3 =21/24  |oss is there when:
Ml SP<CP SP>« P SP =CP o
i VIR R T p e QeSS 2T
'. | The person or entity whose insurance is being done is
¢ Drawer nsurd | Insurer  cglled:
I | : | ' dﬂ)J‘fJ/}LfC)'}fb JC//qubbvb d,& 496y
<7 -'4""1“:- ! J_c__’, n\ | u’g
| | J’éc,lc_-w
¢t Property tax Direct tax Tax T axes which are charged on income, property and profil
. 'in the form of income tax, property tax ¢tc are called
- .‘|p‘|~:'!'t na ,,...7 ’u-.guf 5\' 7
Rational adic | o N . T
P . Radic ind 5 Radical 37 is called:
. s ot oS e L2443 f,[‘-_ﬂj?_g,/ e d
lmeger Ratinal | Imauomal 'y 243 isnota radical because 2 +V3 isa
: =2 '
i i A Pas0 G ARSI G,
y 3 a5
Fourth term of ™ =5 12 m where p#U
736 79 73 ‘-‘Ll'-krb”'\}./c'k’ﬂ'— -12 0 1}
i 0 ; ) G.M. between -3 and -2 is: _ ) B
| ¢=ANB }un_;,;-_fll;‘dﬁffn B .y AL
ANB B A ¢ 1A I
| and B are two non empty overlapping sets then
W ,\pu—‘?_‘ DN
16} Do 4 & Ry=2 M R= L,5)(5,4).(5,6),(6.4)}
I S — ___E_lt. ﬂ-l.S].(S,:‘_)_.ﬁ._(_’).(G,-l ‘i ‘he“ Range Of R iS'
- q /-
5 i) Vot q_!'l‘:.UUJ:J’:.Jf Y b5
The perpendicular distance of a point from Y-axis is .
( UNRRT ADsCissa Ord nate Ongin i
) ¢ called.
/S - T NPTV IRy R
// . . .»‘...n.'u rUeRJlav e e l"J'.;a ‘.v..'
) S ¥ y g ki
/ / - c_rw-,r./v...
) llhmgraln CLive Cune \\ hen a bar graph is constructed, so that the area of

each bar 1s proportional to the number of items in each
group is called:

A’/’

n

6

— i)

O o R
« B

= A
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SECTION # 1

Question # 02

Attempt any Six Parts

L.

IV.

VL

VIL

VIIL

IX.

S daelialea = 255
If 4/5 of the students in a school have been away for a holyday. How many in every hundred has
been on holyday?

S ey S pyie S S Ll

WS aslaa Caal (S x e Gl S 20:5::8:x

Clear the Concept the word ratio.

Find the value of x in Proportion 20:50::8:x
f e lS —wrad
What is meant by percentage?
S S s S
What do you mean by zakat?
f S polaa 58 02 8L S 5004000
Calculation zakat of Amounting on Rs. 500,000?
S0 S bl y 34 S plaii )l oS
What is difference between Profit & Loss?
67 Sisen 29728 Crafanliz 0 Sin aS plaa Dk g 3 Coaid
Find SP when MP = Rs 728 discount =6%
TS iy e S i)
Define Inheritance?

Question # 03

Attempt any six Parts

I.
I1.

1L

VL
VIL

VIIL
IX. .

wASda el —w oS
Define Credit Card?
St Yoa S e psm )
What is meant by Premium?
§ S Caf Jual (S Siana€ o 0 s s 16 e O3 =2 290 344800 aaf LS 5 1S Sl
A Computer Price is Rs 34,800 inclusive of 16 % sales Tax what is the original Price of the
Computer?

S S S (S OSS Sh
Define Sales Tax?
U8 Gy el S (SS Ll
Define Excise Duty W/ . e
Provethat ~ 3log2 +log5 = log 40 —(j} o C é(//"d}

Solve log(x +3) =2
1 1 =
Simplify (as b3 )z_1 - (a§ b%)-3
Written a Scientific Notation
§ 565 O pf i uaiils S 504004000

o ‘(7/ ), 9 Question # 04
57
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4,

...\ |

~y
Attempt any six parts

=S pislinler oGS

e dla ol S Gy yai (S Lds _Solel
/ I.  Define Sequence and give Example?
/ f s Jla ) oS iy a3 (S S
/ I, Define Set & give Example?
/ S iy a8 S (6 i s S
' IIl.  Define Cartesian Planc?
§ S <y pe S ol S Sy
IV.  Define Histograms?
S oshand)n

V.  Find first two term Of% = (-1"nd
§ S psbea il (S 9 55924 bausy ran K16 Usla R

VI. 1f A.M between ‘a’ and 16 is 24. Then Find the value of ‘a
oS o sl AXB 5 5B={a,b} Ls)A={2,3,4} S

VIL.  IfA={2,3,4} and B= {a.b} find AxB
S Spsbaiuy o palS8 4 402

VIII.  Find geometric mean of 4, 2 and 8?
:I-\LIS_'.' ‘a_,la..s'_uuaus.)\)‘
IX.  Find the Range of the data? 6, 8, 13, 11, 18, 27, 23

Section # 02

Question # 05
Attempt any Three Long Question

fup SSala 2 )8 2 Ssa S (pe 2904050 5 5 2290 6750 e (S 05 15 S 38
a. The Price of 15 Suits in Rs. 6750 how many much suits can be Purchased by an amount of Rs.
4050?

Suila gl nFsen Ol e Dsl S OB e S eaw 4 S5 o e daila (Sl 5 484004000 S0

ol pslaa e (S an LSS 5
b. Akram left a property of worth Rs. 48,00,000 he left behind a Widow, 3 Sons and 4 Sisters,
Calculate the Shares of each?

Question # 06
‘ § 33:2:5 Cud (g gyman SO S i il S i 355 200000 e palill (5

|~ a. Distribute Rs. 200000 as a Profit in business regarding Threc Persons if their Shares are in the
\ ratio 3:2:5?

f insS pslaa allia By c“uw\ﬂu/ 6 A=S Jd 255600
b.  Find Compound on Rs. 600 For 4 Years at 6% per amount?

WZ/ a” %ﬁﬁﬂ Xa

CamScanner
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Question # 07

Sl 5y oGl 30—l 61 S Ly 08 Sl w8 (ST 16 Ly JSail K1 1y 5 4000 Caas S JSile S

a. The Price of a Cycle is Rs. 4000 if 16 % Sales Tax is charged then calculate the amount of sales
tax on 30 such cycle?

JSEN . SV U PLENPV LS
b. Solve with the help of logarithm table 2383991

Question # 08

a. Ifthe A.Ms Between “a” and “b” are 5,9 and 13 find a & b?
b Usla dac) 50 R
8.8 50 US Caal (Sb gla i sy e OF 03 5 49 e S

b. IfA={7,10,13,14} .U={7,8,9,10,11,12,13,14} or B={7,8,11,12} find then

Verify that (A N B)® = A° U B¢

wAS el 5 g A= {7,10,13,14}, U= {7,8,9,10,11,12,13,14}, B= {7,8,11,12} B
Verify that (A N B)¢ = A° U B®

Question # 09

¢ Oy JSS a3 (SOl s eSS il 8
a. Draw figure with help of following points on graph paper?
A(0, -5), B(3, -2), C(3, 0), D(6, 7)
S S psbre milans g gl syl € o1 50
3,5,6,8,8,9,10
b. For the data find mean & Median?
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y 2
D g I 2T P NG s s 21T

2024 (F Azl SN S i
10:"A OBJECTIVETYPE (3> 4 15055

..n-(_. ;/.—_QL/AI./U,.LwduuL.,w._/uc_u"uuuéz_;.:'_!/Ldlr,-/db’d'f-ufiz-mu'C B,A-«l'i«ﬂuéd'f/ wi |y
(1x10=10) 2 3 =i LT, ,/...(u__/ Jusmiie | 17
I'he most preferred attribute of Allah Almighty which he q_wJ,L;u,;q_u.,,w(,f_)a_)umfdlr.uv ] (
desires its reflection in 1lis liked ones. e - S :
() To do justice t/Jx (b) to give favour  t/u>1 | (¢) To punish t;:'/ (d) to ldkc plly t/,f
Which planning of the infidels has been indicated In D ‘;-“ " \
e I'f.ul/lJ}JdeU) /JM L J)ls PO U SVN IPR i
() social boycotl sbidi (b)Shadat ¢ Rasool (¢) Return of immigrants (d) Attack on Madina
(nyu‘l:Jl'J.:I‘illJ'Jr; =l? gﬁh&iil{ L
As Momin, we should keep dearer to our life to: U{u;,f._,,f"l./;_u/(-wgf‘fr.ﬁf i \
(a) Our Parents U_UJJ;'%—I (b) Our children F (c) All human uirl “‘” Rasool ¢ /\krdmf 4
o / -.a"l_“;,'_l_a-')'/.)“; “ { !
Inthe light of Surah Al-Anfaal, the reward for remembering Iéru”(L/,E;_,/fdu,.uuty,,&)wumf i K
Allah Almighty frequently is: ; ' |
(a) Government —F (d) Welfare Y (c) Power =6 (b) Wealth = I |
I:' lhclcinl'udcls step forward for peace, then the Muslims ,,j'q_Efu)u/;‘f_’w_;wt‘,u(,ﬂ I vii k& '
should : |[ASSal
(a) Shake hands Sl | Attack immedialelyq:/ 2,7 | (c) Run away b_f (d) Make peace J:'/f," | l
To preach Islam, you will tell the central subject of the (LSl rr §S s/ .{.L.—J;Jruzlui vi Al
Holy Qur’an is: B
2 v {
(a) The human being out | (b) The Jinnaat =t | (¢) The Angels £/ | (d) The Devils 2L 1 ' 1
When Allah Almighty is mentioned to the believers, their hearts: J)Lwlie-ﬂ_a_lffib’dlﬁﬁ'gz?—lrﬁu?f vii K "
(a) Get lost b | (b) becomehard  rZbxes [ (c) Explode u‘.’-"—?:—_—,‘ 3] (d) Get scared  zZ b |
How to live a life, the complete guidance available :a&LJL‘m};iLL/'?’JIJ i K .
(a) In Zabur Utsss | (b) In Injeel S (c) In Torah VO (d) In Quran ST
To get the supremacy over all the creatures, you have to (‘_Jc;rw_;, .J_‘_(_ z_/‘)’bub"/uth’(ll [__,. 3 ix | Al
manage: sl e S IS |
(a) Wisdom ¢ S (b) Knowledge ¥ H‘ (c) Worship ORIV (d) Power ¢ _JLv |
trass S e —_ 4 i |
Sahab e Nisab is the basic condition of : L;/L;,w,f._,u.)u \ k
(a) Salah L( U (b) zakat al-fitr J_;l/u' (c) charity S (d) Zakat - U(.-_- J
\

2 2 s
% M wop /MN’ M‘
gue 7oA BISE S

1'76""" / ‘ QB

F , ' "zaq

cad AL G

\\"

iy
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,: . ction 1and 1T both are Compulsory.
o
-

[Scction -
Answer hrul'l\ to any six of the following questions,

In Surah Al-Anfaal, \\'h) the wealth and children are declared
as IIIml '.’

“Why Ghazwa-c-Badr is called Youm-ul- qu]'m' B

‘What do you understand by Sy e

In the light of Surah Al-Anfaal, as an army commander how
the Maal-¢-Ghancemal would you distribute ?

SUBJECTIVE TYpE J,2 28

ey

.wd}l!runull/ﬂ.;i

]J’l w]
6x2012) 2wy Ler®)ed/
Tf-ﬂw,au[/mesJwaw ; |
V ff-lfvu[uff"rt/nu/ ‘ "
YA PO A
TL;{/J(‘JJu/“dl;ﬁ()fgfulfdwlh/.rfb}n//.f_z’ i

Auorthng to Surah Al-Anfal, which who attributes the
“Momeneen™ you will possess in yourself?

1Lyl ,:fg.:.-.u-»u’/&-ﬁ"r,,rawﬁdwmw |

“What pum\hmuu did the Kufaar of Makkah pray for their
selves ?

N r'?ﬁ;,[r;u.‘/g_.»,.u 5 "

How did the angels behave when they took the souls of Kufaar 9

?wL/J}‘lfu;Aﬂwa vet)

In Surah Al-Anfaal, what did Allah Almighty actuated the
Muslims for Jihad?

!‘d;v?/lfé.(l_zvu;VIUIWLJLJAJJWI'J!l vin |

What did the Satan say when Kufar and Muslims came (ace
to face in the Ghazwa-c- Badar?

Tk(LfLub;;n¢b4qu/ uulf.)ufuu/ I ix

Answer bricfly to any six of the following questions.

(6x2=12) & febiz L ur(6)edS |

Lixplain in your own words what is the reality of Allah’s

USsigre S fdier |

For the ]1u1p0'sL of giving understanding to a person on
Khatam-e-Nabuwwal. which any two logical reasons would
you like to argue?

Tﬁq;dﬁb&'»;uﬁ.ﬂg_LLU_(.-A,’?:(UJ “ il

What are the reasons for the rise and fall of nations in the
light of Hadith? Write in your own words?

YL L it Lurd LS acw | i

What should we do to become the true slave of Allah Almighty?

anﬁ)’/?l_,{llcr;ﬁ_iﬁi_//?l(fi.lfduﬁ’ iv

What is the central lesson in the [irst revelation?

e sl L | v

Which four steps would you take in the importance of
cducation?

$LShehdly e TLLE S el | i

What was the reaction of Hazrat Abu Bakar Siddiq (Jv.is*s

#) against the deniers of Zakat?

TGJ’J;&/{JJGJ‘IIU;/(ZMJQIQP\JH;é?fhi;' vii

—\ﬂxim) pe of four people would you select Lo pay your
Zakawt?

1Lyl N LUV éLLﬁ;l:wa.{T_ i

Write verse or translation about increasing knowledge

At P Lot |

(Scction -

Il f40) o

( Translate into I nglish any two of the following Ayaat/ parts. ]

1 G T B e om V1 el Loy RO

(4+4=8). é}/g}'m!ruc.ljfr_\ﬁ l?l/vt‘rdr/gbl,u ‘

PERRCAEIATOR T TRPTCTO Ty
SISty

u_’).lS.J p.A.A.f iy le-l-l-Jll}J,-Ll 5 5._).L¢u

’l.(a‘jlmudlwwi.auuu,

,P.,._J,JJL’J..JLL.J_” LaLuu.AJooJ‘ll

RTINS I VYR Y CUS [
V_f_.r.x.»_:u.)l’mlf,s_}'g

“Translate into English and explain the following Hadith I

A= J) éL/JJ/gF‘)M(-:uJ’L“ |

["For which aspects of life you can scck‘I:uiduucé -I'r—mn—au_r;u-n'-’
_ Write a note on the prevention of the THoly Qura‘an
QFY L o T
¢ %02 | Explain the importance of knowledge in the light of Qura’an
% 3 7 .~ | and Hadith and also explain how Muslims can become
30, powerful through knowledge?
‘; i

v |

22

T

T

>

sAMy

|

PJ-"L‘J-‘u-L‘ "“-')-JPL*‘—““M“‘ | ik/lll:

230 VLA ¥ Lok LS s1e ]

{ (142 =_57)-J-’( ..-.)cdnlj.{; of;

P L LU St oy AP LT S s ’
(12 =0 E b

ﬂ( ,
547 W

62y ;
K+U ’

K+A !

Al
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e
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(500U

K7

S

PI
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(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

a
daﬁ,‘.jJUcf! ﬁld/ﬁgqu? /‘-'IJT;’/),’

2023021 ¥ ytz(u‘y';djuayUrf A

SIS B SN gend S pers 0
et 1A

gid# () QS (B) F W@
ol e 2

<ty (©) ctxb (B) <Gerb (W)
e O I L Lo it S MBlsss 3

Az (© | dez ® | b7 (A)
Vel L5 a4

hdurs (©) & ® ot (A)
cemEEE e CFG s

@0y (© GO B Qo) (a)
e e 6

KUl (C) ks B it (A)
b P nd SR L T s

Juf:" (©) ' S ® o (A)
RSP N IS g P W

vi (© wb (B) e (A)
et AL A bt 10

iét'?!;\:f.:' (C) C"-u'—d‘f:_v (B) ’CO v ~ (A)
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i er14s =5y
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cedpVe SPL L eas iii.
e b a0 pebenpdidnib St .
S s SIS Euf .
-el g IS Sy vi.
SO La2 i Ly
—e WU e i viii.
-q//,/’.z_:)b’z'__ﬂfﬁutd'ﬂd’ ix.
E A2 L d e Lditn 3
UYL e LT i
e e Pif el ii.
S22 K T LIS AL OP L usis is.
' /2 /'.-gfmrtrq,gu:q;ru v
-q/ug:utu;/”'/lg.-,{.l(f".i':b.if"a;bl;r’fbfjlu"J/gﬁ}mg@y v.
PN VP S vi.
U TV AL ool vii.
S EAS S i
-4‘:_t'ﬁcz.L"uW/'tfé_’_’ufdyJ_;TuUJp.:f/eu”(.?f.'wldl,-e ix.
S L(jé,«?_g_%t:?__,fﬁ o A
St Lz et & (o
SIS F eI SRS s o L
A L Y Y 3 Y T =
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10:74 OBJECTIVE TYPE Lf's/"..-l? 21555

Lo é:/f;.g{{.f)tf a5 Fbr LN Rz e S u;/l.uél_:f_lfﬁdlr;.;dﬂ}li wéa.JDJ:JC.B.A-H!JJI'A:JIr/ B I Jir |

(1x10=10) -rxu"’ﬂul?uiauruu‘(fdlfunL/{fs}ubul;c.

The most preferred attribute of Allah Almighty which he
desires its reflection in His liked ones.

?—QE"‘E’L}:UJ#}%}M!(J’-“.HEJQJGU._’H |

(a) To do justice e/ l (b)to give favour  t/ule

(c) To punish (g | (d) to ldkc ]'uly Lfr J

Which planning of the infidels has been indicated in
LooiS ol Sy 8y Bl g

t.;_.M._i)JJMJIJMu: Saiis N sy 3 s

(a) social boycott b g (b)Shadat e Rasool
'),!’W"JT!#M.‘-‘(}‘J.*’I =l

Gy

Mra

(¢) Return of lmmigranl:i P) Attack on Madina

As Momin, we should keep dearer 1o our life to:

(a) Our Parents L (b) Our children 3P

In the light of Surah Al-Anfaal, the reward for remembering
Allah Almighty frequently is:

(c) All human ed

P ,u.-.:..--w)”-._,'r.

(a) Government = F (d) Welfare L = (e) Power < l (b) Weallh .;Js;

]Elhui;nﬁduls step forward for peace, then the Muslims n.(a;.l.fuﬁa/zfi;}l,d}‘d?fi

should :

(a) Shake hands pem gy I Attack immediately>./ 4714 | (c) Run away LSl I (d) Make peace #/2°
To preach I'slam. you will tell the central subject of the (LSt r L 2T J_L;_;,er_,

Holy Qur"an is: ) 3

(a) The human being i ] (b) The Jinnaat =0 (¢) The Angels 2 l (cl) The Devils fL,

When Allah Almighty is mentioned to the believers, their hearts: JJZul?.f,rbgﬁf&JﬁlJéb&u;?r
(a) Get lost Al | (b) become hard LL‘—\'-"J (¢) Explode Flbid | [ (d) Getscared (2 |
How to live a life, the complete guidance available TR i 4_|3*sz;);1£4_;|ij}
(a) In Zabur Ladi | (b) In Injeel \.F\.«'—"(' (¢) In Torah r(d) In Qur’an J'ul)
To get the supremacy over all the creatures, you have to l’t_J;t/ﬂﬂl 4_£ Lf._}‘l._.l):.,h’(ﬁ /._,u
manage: o= il |
(a) Wisdom ¢ S | (b) Knowledge § H‘ (c) Worship (:.:l,: \ (d) Power ¢ =3

Sahab e Nisab is the basic condition of : ;L_/J;Latu_.u...:u
(a) Salah J bV I (b) zakat al-fitr  §z 4 () charity S { (d) /al\cu J',., i

LUE fff’{
%4’* ﬁy

-3 @"
d’/’

—/ B’SE BL’OP / mﬂ

BISE

7&'%;_,: _,e’ uLJ:.;J:'lpd',ld:‘Lf r-v-i

.:..;wra_f he =T Ju.mu:o‘,,d’ St i

(dl RJ‘-(IU' \me (& .

|
i| t
+ ] I
P
1 1 |
| i
|

i A\

|
iv K

{
| ‘
¥ ' {
\ k
% i
i <
vi | A
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| | |
1 l
lvii' K!
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Note: Section I and 11 both arc Compulsory.

[Section—

A0 A

v

-L.db‘l'”['” sy i g

Iz

Answer briefly to any six of the following questions.

_éjgiﬁi;un,(s)eﬁ =

(6x2=12)

In Surah Al-Anfaal, why the wealth and children are declared
as “Fitna™?

"{.ﬂul} ﬁu[ﬁﬂsljdlgﬂdﬁﬂlln’ i

Why Ghazwa-c-Badr is called Youm-ul-furqgan?

e VUL s Pipthianp | i

What do you understand by 2820 &3 e

gy et i g |

Inn the light of Surah Al-Anfaal, as an army commander how
the Maal-e-Ghaneemat would you distribute ?

VAl P J../dl.u.'u.'d’quw;r.,.Tz,i.u,/h.{ i

According to Surah Al-Anfal, which who attributes the
“Momeneen” vou will possess in yourself?

Ly iy J.:rt,,l.z.umu"f e r Ao Loy | v

What punishment did the Kufaar of Makkah pray for their
selves ?

T NP d

How did the angels behave when they took the souls of Kufaar ?

LT dodadeiaE) |

In Surah Al-Anfaal, what did Allah Almighty actuated the
Muslims for Jihad?

o ATELL M1 A SO LI St Jiumsr | i

What did the Satan say when Kufar and Muslims came face
to face in the Ghazwa-e- Badar?

rw’y’guu.-k.m;u;fuu#»w’_.u:m,/

ix

Answer bricfly to any six of the following questions.

(6x2=12) _éj.:.l_.lzﬁ"'ﬁ__-,mr(ﬁ)r_éf

Explain in your own words what is the reality of Allah’s
love?

Lt W Ve s |

For the purpose of giving understanding to a person on
Khatam-e-Nabuwwat, which any two logical reasons would
you like to argue?

TLQ}J“}?J}L@;."TéLLw—&f?IM—- i
|

What are the reasons for the rise and fall of nations in the
light of Hadith? Write in your own words?

UL P BRI AL it f LurF R F s | i

What should we do to become the true slave of Allah Almighty?

What is the central lesson in the first revelation?

efx:f,_m,uqmé_ﬁi_):mu’mw |

"{—Lfr";dff@ﬁuy v

Which four steps would you take in the importance of’
education?

rﬁ{ul...u»rigc.uf Tl L8 Spbaanff ‘

What was the reaction of Hazrat Abu Bakar Siddiq (Jw.a1¢,

=#) against the deniers of Zakat?

1 sl s’.-:du,#-mqﬂi Ao .Ju-&:fig}' ‘ vii
|

Which type of four people would you select to pay your
Zakawt?

- — s
SLy SR I LUAS L L SiniLT | i

Write verse or translation about increasing knowledge

PP i)

(Scction 11 f1140)
Translatc into English any two of the following Ayaat/ pars, | (4+4=8), égz;,tmlr,,c_Jf._—_.;ufl/..;fdf;.,t,bu
@ gl Odl dle gw ) Haidl e 3 ;}s_,,_u,._.uuh.._t,w,.;_.ul B Ly
i e |

O35S pAGS Lag of i) s8310 0

Sikss 11 sl ike ppde pls Ui g

3 paald Gag a3 T Ldes @Y

,_]p..._:_q.l_sw_wu_ll_, &
M:.J_lm_“ if

o L ;'.‘T.'-."-I

Translate into English and explain the following Hadith ]

Aan=) ZE S0 mll’...;u-di.b;: ‘

P.L.ud,suuw).;,._l_uluuo

For which aspects of life you can seck guidance from Qur’an?
‘Write a note on the prevention of the Holy Qura’an,
OR

503 LA S Lo L it T
L (,-?3+z et ad Bl i

" | Explain the importance of knowledge in the light of Qura*an

powerful through knowledge?

H’ng)"&b’fz_hﬁ £uy._~wJH‘¢d'uJ#,urf

and Hadith and also explain how Muslims can become
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